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Tine-: 2 Hours

Instructions :
(i) Each qustion carries one mark.
(28 D%)50 ¥ Srdy.
(i  Choose the correct or most appropriate answer from the given options to the following questions

and darken, with blue/black ball point pen, the corresponding digit 1, 2, 3 or 4 in the circle
pertaining to the question number concemed in the OMR Answer sheet, separately supplied to

you.

SIHS BDYS 08 (D)5 V31285 TES" TS ATETIS0D T AN
Jrdod @oE 1, 2,3 BE 4 3mr ad S OMR JSrersS H|Ssns 15¥) Hopido Hddhm
e Ho2oHe DEJED /eyt ord oot ) @NErR0D JoHIBb.

Match the following positions with the persons now holding them (as in March 2019) :

Institution & Designation = FPerson’s Name
a.  Chief Election Commissioner i. Ranjan Gogoi
b. Chief Justice of India {(CIT) ii.  Rishi Kumar Shukla
¢.  Director, CBI . KV, Chowdary
d.  Central Vigilance Commissioner iv. Deepak Misra

Sunil Arora

80 0BG HEHOD 38 ammmaa& .ﬁ;@ﬂ DES maH5S0h {érﬂ;} 2019
e38)

Hod Hddcin Inrore S48 D&
a - DS oadEo eodsd i Somsandd
b,  278& | DS arpcbaard (CID il. 6% 5osrd HE
c. A 305 iil. B.IG0
d.  Sold DABS) LRSS v, HDE of

v. dedor

Choose the correct answer ; / ROTDA DAFTER) SonE Fohobd :
a b ¢ d

1y i v i v
2 @i i v . iii
Bovo v i i
49 v i il il
2. Read the pairs about the Kalamsat-V2 :
a.  Kalamsat-V2 satellite : World’s lightest satellite
b.  Weight of the satellite : 2.6 kg
€. The satellite was built by : Students of Space Kids India
Choose the correct pairs :
(1) . bandconly (2) aandconly
a, band e (4) aandbonly
“Ferodrd - D2 5o Do20H0D L0d Béedd S&S0b :
a  Seroard - D2 afidro : DdHotio Do) ed EDHIH ad|idro
b. ey 28y 1 2.6 Sy
c. AR Srrofoddd o i R §8) 2088 doien.
AOTS zdoD JonE Tabhod
(1) bSO ¢ Sredad (2) an0divcAr|ed
(3) & boddinc (4) as00cin b e
C SSI-GS1 2




FRESHERS NOW

The National Bench of the Goods and Services Tax Appellate Tribunal (GSTAT), which was
created by the Union Cabinet, is a

a.  Forum of first appeal in GET laws.
b.  Common forum of dispute resolution between the centre and states,

Choose the correct answer :
»{4{ Both a and b are correct (2) Both a and b are not comrect
(3) Only ais correct (4) Only b is comrect

S0l sHATE TS o)ty TADAS I WSO D) eDHIBLD (B2 B
2rach BoS eIo

2 30 DI HH) Jwossed’ Bnde ehyen o @Y
b. Fold O T Sddg DardS HOETT O &) THE

BT HEPLTED) JoDE Fchoh -

(1)  a8aH bBodr HOTSD

(2)  a 00 bBodr HOTSD S

3) adnED HOTI

(4) b IS SOPRS

The 13* Conference of Parties (COP) of the Convention on the conservation of migratory species
(CMS) of wild animals is scheduled to be hosted in February 2020 in:

(1) Bengaluru, Karnataka (2) Amaravati, Andhra Pradesh

@Y Hyderabad, Telangana (4) Gandhinagar, Gujarat

B 20890 IS0 rde HBSLND DSS 2020 & 2EHSODLAS 13 S
‘S)88) 89 >’ (COP) H3rTd0/E4T 508 €8 28 &0 7

(1) Boligord, STed (2) @DHUHA, wo|HTT

3) DSoerd doore 4) moASES, hao s

Under which section of the Income Tax .i;L-l'.‘;l,. linking of PAN with Aadhar is mandatory for filing
of Income Tax returns ?

W) Section 115A (2) Section 139AA

(3) Section 14A (4) Section 80AA

sorabsy Doy BE5) (retums) & orpen Tahards werbsS' rén 3 (PAN) & Oof
TOHS0 eorohH Ha0) B0 o DerHio 808 $HINNG 7

(1) ESTISA (2) FES 139AA

(3) DES4A . 4) PES80AA
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Lokpal search committee, which was constituted by the govemment of India in Sepmbw 2018
is headed by :

(1)  Sakha Ram Singh Yadav ¢2) A. Surya Prakash
(3) Arundhati Bhatunhmya (4) Ranjana Prakash Desai

203026 2018 &° 2188 52598 50T Io3en DAHBAS SEIS 35 £ed’ 8 ﬁésm
D358 ?

(1) S8 0% DD PSS @ A TS5 OSF
(3) ©HoL virords @) Soad |H=F Frow

Who among the following members quit the National Statistical Commission (NSC) in January
2019 ?

a.  Amitabh Kant ' b.  J.V.Meenakshi
¢.  P.C. Mohanan d.  Pravin Srivastava
The correct answer is :
(1) bonly (2) aandconly

~ {(3) bandconly {-fi) aanddonly -

28558 2019 & 80 2rach Herof EAS (NSC) Hhiod 5% & EDHS wod
e a ot ?

a. o=l sod b. JV.Dvo8

¢. P.C.3IS d.  |1DDS 0D
DOTpeS e

() baredd (2) aobain ¢ Sredsd

(3) bodaty e sresd (4) aSbcwdAmSH

In the 2019 International Intellectual Property Index released by the US Chambers of Commerce,
out of 50 countries, India was ranked at

US groal) e sb)y a8 ddde Tns 2019 wosTradh e Hond drdiés' 5o
Bred ords$Hid orgos Jos 7

(1) 43 25 36

(3) S0 (4) 44
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10.

Arrange the following four major grand slam tennis tournaments in the u:.hm“ulugmnl::vrrder as per
the tennis calendar :

a. The Wimbledon Tennis Tournament

b. The United States Open Tennis Tournament

¢. The Roland Garros Tennis Tournament

d. The Australian Open Tennis Tournament

$od mendh DS (rod A BN B0k WV 5758086 (1580 IH
ESos' 8308

a. oS 1AYRH STy ods

b. AFT LS PG LDS LAY SG Do

¢. GwolirdhH AR &Gy Dods

4. 8 HODHS LS B &%) Hods

Choose the correct sequence order : / ST EX5rR)) 008 Tchod
(1) ¢d,ab (2) d.c,ab

@7 d,b,c,a 4) b,ac.d

Which of the following ICC cricket awards (for men) were received by Virat Kohli for the year
2018 7 =

~a. T20I performance of the year, 2018

b.  ICC ODI player of the year, 2018
¢.  ICC Men’s Test player of the year, 2018
d.  Sir Garfield Sobers Trophy for ICC cricketer of the year, 2018

Choose the correct answer :
(1) aanddonly (2) abcandd
#©) a bandconly (4) b,canddonly

2018 DOSSHTRVE M BOSTBODH 1585 TOHS (ICC) &8 (HHhHe) Lﬁeﬁ orf)S
JordS 578 806 oe3S DEh Hdsen 1Hodo FavaFow ?

2. ©0STA0D T20 &S 2018 DOSSIEDY w13 |HSB%S
b.  ICC 2018 H0S5&)55 ODI QobB

c.  ICC 2018 HodyBxy Hbsne BY DAHS

d. 2018 D05 )05y OO @ &8 ICC 4845 15D

RO ANAFTER) Qo0 Tahod
(1) aHécind SMa (2) ab,c8a%nd
(3) & b8dknc SMSH (4) b, c 0B d Sresh

SSI-GS1
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FRESHERS NOW

Read the following statéimerits :

a.  National aquatic animal of Thailand is Siamese fighting fish, as per the decision taken by
the Thailand government in February 2019,

b.  Official national animal of Thailand is Tiger.

Choose the correct answer :

(1) Only a is correct (2) Only b is correct

&Y Both a and b are correct (4) Both a and b are not comrect
1808 diiech Bdoh

8. Tranerod HZbé o DS 2019 &' ainsud) Yo Hsdo gronerod Tod)
2BOH 20 30803 RN S TD. (war fish)

b. Groverod Bnd) eHTOE radd 208 3.

HOT HITGTER) JobE Tahod :

(1) adSMad HETSA. (2) bAMED HOFISA.

(3)  abcin b Bodr HOToID. (4) aS0ckn b Bodr HOTLAD 5.

T2} Match the following years with the names of the countries in which the G20 summits are held or
to be held '
List-1 (Summit Year) List-1I (Host Country)
a. 2019 i. India
b. 2020 ii. Japan
¢. 2018 iii. Sawdi Arabia
d. 2022 iv.  Argentina
2 (G) 20 HSX0jen 28D )N B8PH; Trod ©d 200S H058) 008 285G :
Do (DS Dol (88 Y3 T¥o)
oS y80)

a. 2019 i  réetido
b. 2020 T~ v
£ 2018 iii. 2o obddir
d. 2022 iv. ofods
The correct answer is : / ST DS TT0

a b ¢ d
(fy v & @ 1
2y un iv i i
(3) i T T\
@ i 6 v i

C SSI-GS1
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Read the following statements about the ‘Seoul Peace Prize’ :
a.  The 2019 Seoul Peace Prize was awarded to Narendra Modj, the Prime Minister of India.
b.  The Prime Minister was awarded the prize money of $ 2,00,000.

Choose the correct answer :

AT Onlyais correct (2) Only b is correct

(3) Bothaand b are correct (4) Buthanndbmmllmﬂm

‘WS o 2T0HB’ (HD D) & H02080D 1808 TN SES0

a. 2019 23S 708 2:30:HAR rdé |HEEold STl FrAs 1KDordo Tard.

b. 0 |Derddo@s advdia Sod Todh ofo @rod (5 2,00,000) (S
RrEdord.

QDO DA o0 Tdbod : _

(D) a S SOTosd. (2) bArEDH HOTIO.

(3) aOCKNbBoAr DO,  (4) aSB0E bBOAT SO 5.

Read the following statements regarding the ‘International Day of Women and Girls in Science’ :

. & This day is celebrated every year on 11® February.

b.  This day was declared by the UNDP.

¢.  The 2019 theme of the day focusses on ‘Education in Science and Technology to Women
and Girls'.

Choose the correct statement/s :

(1) conly W) aandbonly
(3) aonly (4) bandconly

2 TR0 Sotreen, ardie BOSTEAD OST)HITVE 5020600 808 T

S0 ;
2 & OSEITD) 1HB HoSS B0 DSBS 11 ardh 2880041,
b.  UNDP (Cin.2m.8.0) & & 82 HE88ord.

c. 2019 JoS& 5D B m Sirden, 2rdiod T, TR HBF IS DSy D &
&S 150 B8 DS,

O TR JonE Dabod
(1) cdresh (2) addcin blresh
(3) adre (4) bDOAN ¢ Sredsh

SSI-GS1
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‘1.  Read the following pairs segarding the inauguration of the ‘Africa Center for Climate of
Sustainable Development’ :

a. Establishment of the center : Quebec city, Canada
b.  Partner of the centre : UN Environment Programme (UNEP)
c. Director General of FAO : Jose Graziano da Silva

Choose the correct pair/s

(1) bandconly (2) conly (3) aonly (4) aandbonly
0PEDS BDIYP TEIGR0 FOH DS F0|G0" (0SS 1L Ho2050D Eod
286000 D05

a.  ods o8y L‘Ju':}e.n.: S5 38 Siido, 3dSar
b.  ©5 So|Sd) iR  diN.S. 2D ITS Do (HFITo (UNEP)
c. o3, SiSrab Do (FAO) o) BOE0 2588 : &' radirs’ & doy

SOTS 2é(0) D J0DE Tahod :
(1)  bSbco e SMezh (2) cdrmeh
(3) adr&gd (4) aSHBckL b SrSH

1. As pant of the preparations to celebrate its centenary in 2019, the Intemmational Labour
Organisation (ILO) launched which of the following “centenary initiatives™ ?

a. The end of unemployment initiative  b.  The end of poverty initiative
¢. The women literacy initiative d. The women at work initiative
e. The future of work initiative

Choose the correct initiatives :

(1) aandconly (2) band e only

(3) a,candd only (4) b, dand e only

WOSTAAD 588 J0d (ILO), 2019 &S S35 ¥ 3OLS S HamSFes arfor 8o
WNOD) @ SEYESTeD HS VY SESen’ rr Fndod 2

a. AHE DO 56 b. &0 DEMOT SES

c. Strer oiodim SUS d.  Sofrden HAITdn |HTFoS TS
e. DD By BDHN S'ES

HBTS SESer JohE Fahod

(1)  aS8an ¢ Aredad (2) bSHBOIH e AT

(3) a cH0ckndIMad (4) b, dOc® e ATShH

C SS1-GS1
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As per the World Steel Organisation, the global crude steel in 2017 was around 1,730 million
tonnes. Arrange the following countries in the descending ordér on the basis of crude steel
production in 2017.

a. United States b. Japan
c. India d. China

BB afy (B S0 Hsdo, 2017 & BHod Ind Ay oo 1,730 1HADLS
8320360 AcA0d. 2017 HoS&S 85 Snd ey ad)s agrdor fod ﬁw.&i es3rer
o 08

a. oDos Hodiod ovaren b. 23y

c. 88To 4 B
Choose the comect order : HOT (FX5TR) LONE Tabhod :
(1) ab.cd 2 d,b,c,a
(3) sae¢bd 4 dcba

According to the WHO, ten threats to global health in 2019 include :
a. [Ebolaand other high threat pathogens b. Air pollution and climate change

¢. Global influenza pandemic d. Noise pollution
Choose the correct answer :

(1) banddonly (2) aandconly

(3) & bandconly ) b,canddonly

1550 el HoP Wsdo 2019 & 1Hicd efmds Ko 38 (10) ercrod 2od
FAS 55D D ?

a. o8 HOCin 2SS 08 |DIFSES Tyt

b, Jrdinsrendgo 00050 TESGR )

c.  DADSHo S0 DIHoS Slrsrd Tyuen

d. 4P sendgo

PO DSrETER) Ao Dabod _

(1) b XdciodSMeh (2) andainc Sre
~(3)  a,bddnc IS (4) b, c O d SmeSD

SSI-GS1
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19  Maich the following :

List -1 3 List - II
a.  First Woman Flight Engineer of [AF | i. Gita Gopinath
b.  First Woman IPS and Indo Tibetan Border Police ii.  G.C. Anupama
Officer to successfully reach the South Pole
¢.  First Female Chief Economist of IMF iii. Hina Jaiswal
iv.  Apama Kumar
808 3R 238555048 ;
aDor -1 Do -1l
a. ;08 JIrdE &%y (JAF) Jd8 dawd i Aemifhad
20286

b. &8 SRy Dachdodor TOS IwdS i G.C eHDD
Serer IPS HOckH w0l BTLS 55 FOD

wHsd
c. @OSTEAD B85 IO (IMF) IS Srer i, D EYS
S e O3
iv. e3¢ %508
Choose the correct answer ; / DTS nﬁrc;rﬁ‘xﬂl oS ToDod :
a b ¢
(y i i iv
(2) i v il
(3) iv i i
(4) @i v i
. 204 Match the following books with their authors’ names :
Books Autbors
a.  Timeless Laxman i Ramchandra Guha
b. We are Displaced ii. V.V.S. Laxman
c. Law, Justice and Judicial Power :  iii. Mool Chand Sharma
Justice PN Bhagwati’s Approach
d. Gandhi : The Years that Changed the  jv. Malala Yousafzai
World (1914-1948)
Usha Srinivas Laxman
8068 ol HUsod 78 SSonde HiS a&aérﬁnﬁ
 Hdsen Scdondben
a TShofd L ool M
b. o el ARG i DI oES
c. 72D, 28NS D35 2PH LS. . S Sob $8;
BHID D oSS

d mod : & 20DHb) &6 Tofs & iv. Nerer chrdnDeran
X8 (1914-1948)
A TR 0§25

Choose the correct answer ; /O0ed n}:lﬁ‘m;}, 200E TFahoh
a b ¢ d

(1) v iv i i
(2) i iv v 1
(3) i v i iii

4 v TR TR\

C SSI-GS1




(B1)  Read the following pairs sbout the Surajkund International Crafis Mela - 2019

RRRRRRRRRRR

a. 2019 Surajkund International Crafis Mela ; 33
b.  The Theme State of 2019 Surajkund Mela : Gujarat

Choose the correct answer :
(1) Bothaand b are correct (2) DBoth a and b are not correct
(3) Onlyais correct (4) Only b is correct

ArdT 508 eodPAh () Thvr - 2019 £ Ho080D 2o Bdwd BES0A :
8 2019 Ardef 5008 eodgach 1) her:33 38
b. 2019 &irdf %008 v A oo HsoS

QO AAFGTTR) JoDE Tahod

(1)  a0chH bBodr HOTDSD (2) aDBAD b Bodr HOTSD =3
(3) aSPSEDH HO/IS (4) bIMSD HOTHIS

Read the following pairs : _

a.  12* biennial edition of ‘International Aerospace and Defence Exhibition® was inaugurated
by : The Defence Minister (Raksha Mantri) of India
b.  The IDEX/iDEX (Innovations for Defence Excellence) scheme was launched by : The

Prime Minister of India
Choose the comrect answer :
(1) Both aand b are not correct (2) Only b is correct
{3~ Bothaandb are correct (4) Only a is correct
808 sdeh S&sS0dh

1 ‘®odTad) RN HO ADS) NDLS B 125 Biordd JALSS
rS0DONN ardh : arde 8 LoD

b. ©8x25) (DEX/IDEX : 8§ (396 §6% 338539 H550) rdododsd o -
ardd |Derddools

QO AIFTErR) SobE Dchod :

() a0y bBodr HOAD Y. (2) b IMSTH HOTIA.

(3) a8din b Bodr HOTAV. 4) adMSD HOTIO.

‘Parmanu Tech 2019 conference, which was held in February 2019 in India, was organised by
a.  Ministry of External Affairs b.  Ministry of Defence

c.  Ministry of Science and Technology d.  Department of Atomic Energy (DAE)
Choose the correct answer :

(1) donly (2) bonly (3) aanddonly 4y~ bandconly
D230 2019 &' 20N Sy WE 2019” D) (9B & D58 DSt ?

8. DBR 3500 HoBss Ty b. B850 Ho@ss vy

c. R AoiBE Hodss T d.  ®e0 B0SS (BODE 258) T (DAE)
JOFS HSrerd) Job¥ Fohod :

(1) damesdh (2) bamaddh

3) aBchn dSresd (4) b SdAkn cAMSh

SS1-GS1
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24.  Assertion (A) : ISRO launched a communication satellite named GSAT-31 in Febmaly 2019,

successfully.

Reason (R) : GSAT-31 will provide DTH television services, connectivity to VSATs for ATM,
stock exchange, e-governance applications etc.

Choose the correct answer

(1) (A)is true, but (R) is false.

(2) (A) is false, but (R) is true.

Both (A) and (R) are true, and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(RBIES (A) : DDSO 2019 &° GSAT-31 DHE 2.8 EXrsdERS ADHTVY B HoP
HiSSe06' Hohod,

O®W0 (R) : Hyr*os Déifor (DTH) IS oo, ATM T35 md -8
(VSAT) ® ®@ddogaa), 8 95008, é-drox Rrioiod a8
(GSAT) - 31 ®@o&HWOL.

DOTS HSTTTR) JodE Fahod

(1) (A)QOTAQ, 5V R DOTSS 57,

(2) (A) OTAS 5, TR R 2OTSO.

() (A) DO (R) DoAr HOTRSD O (A) K (R) HOToS D36 008,

(4) (A)SH6atn (R) Bodr HOTLID, s-:a (A) 80 (R) 2OTHS DdSe 5.

@ Match the following awards with recipients :

Award | Reciplent

a.  Bharat Ratna (2019) i.  Ismail Omar Guelleh
b.  Emst& Young Lifetime Achievement (2018)  ii.  Bhupen Hazarika

¢.  Gandhi Peace Prize (2018) iii. AzimPremji

d.  Padma Vibhushan (2019) iv.  Yohei Sasakawa

v. * Kuldeep Nayar
808 NS TON T8 rded’ 285005048

D5 Bo/eaH v iitre
2. 2rds 84 (2019) i 2rond 2,500 HY
b. B & chofl BIBRD @DSHoS i DS Irards
(2018)
c. mod Tod HIrd (2018) iii. oo Do
d. DY DSrHS (2019) iv. ST dES
v. 59D 3006
Choose the correct answer : / DO DArETarR) JobE Sabod
1 b ¢ d
(N §i i v i
@ i i v ov
@ i v i
@ v il 0 v
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26. the following statements about the ‘PM-KISAN' scheme :

b.
e

C

The ‘Pradhan Mantri Kisan Samman Nidhi’ (PM-KISAN) scheme was introduced by the
government of India in its interim Budget 2019,
The scheme took effect from January 1, 2019,

The scheme aims at supplementing the financial needs of marginal and small farmers °

procuring various inputs to ensure proper farm income.
A family comprising of husband, wife and minor children who collectively own cultivable
land upto 2 hectares as per land records shall be provided a benefit of ¥ 6,000 per annum
per family.

the correct statements :
a,canddonly (2) banddonly (3) a bandconly (4) b, candd only

“1DGTH008 S DAFS AG' (PM-KISAN) H68 Jdowohod %ob aimios
il Tole T i

8 2rde 1N 5o 2019 e OF AFNS ITADoE S DIMS G HHTR)
3o d.

b. & H%0 28558 1, 2019 Hod eHend's D08,

c. oarod oA DTN Dében HPS HSch sordirl) roBodhfc Jeomr

DD S4SACH AEr ST DESOSEE 8dE 8lHT0h wodod aldos' &
HE%0 wiododnlod.

d &r 8sdo 1H5do 2 TFE S65 D M (DocknSom) e &6, 8 SLbddy

DB DROE SrES 2.8 300028 HoSS RS & 6,000 |HEIrES0 Sothéod.

ROTod TP J0DE Thod:
(1) & cbcDddmeszh (2) bSddind M
(3) &8 bSO c AMSD (4) b, cSHBAH d Srescdh

@ Read the following statements about the ‘Subhash Chandra Bose Aapda Prabandhan Puraskar” :

a.

b.

c.

The Government of West Bengal instituted an annual award titled ‘Subhash Chandra Bose
Aapda Prabandhan Puraskar® with the cooperation of the Central Government.

All Indian citizens and organisations, who/which have excelled in areas of disaster
management arc eligible for the award.

§® Battalion of National Disaster Response Force (NDRF), Ghaziabad was selected for the
award for the year 2019,

Choose the correct statement/s.

(1)

aandconly (2) aonly (3) aandbonly (4) bandconly

‘A2 SOIBSETH 8D 1HD0GS HBE H Honodod Sod mipiod SSS08

a.

b.

.

o SoldER 81G 1HodS S D eTPH ol |1Hdhés
HtsBod H3 Bord HZDS L0 07N THoD.

DHH el Ho0d0dd Dadired’ VB rdd ren SHOKW
Hopen & D e,

FaSS S5 OISy &8 (NDRC) a8 8 & 22rdchHS, vadirard &0 2019
3 RONDIS NS e & T D J0DHE T .

HOTS s JodE Fobod :
(1) a0k ¢ Sresh (2) adredah
(3) aS8ain bsrsh @ bOB ¢ Srsdh

SS1-GS1
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28. Read the following statements about the Election Commission :
a.  The Pnme Minister of India appointed Sunil Chandra as the Election Commissioner in

February 2019,
b.  The appointment of Flection Commissioner is made under the clause 2 of Article 324 of
the Indian Constitution. '
Chgose the correct answer : i
) Bothaand b are correct (2) Bothaand b are not correct
(3) Only a is correct (4) Only b is correct

A1 50 0TS H0DOLODMN 806 Tise)d &S0
a r6S DS Ho@ D23d 2019 S DS ol Ve EnRSET

RO,

b. 20 Trergofiay 1R800 324 QGlnEy T 2 S04 JM%e SMadd Datrddo
2800 d. :

HOTodS Barandd JodE TFawod :

(1) a50c5n b Bodr HOTAD (2) addcsn b Bodr HBTSD 59

(3) adMSRD HOTAO (4) b ar&D SOTAO

@ Under which of the following Acts, a ten (10) percent economic reservation for those belonging
to economically weaker sections (EWS) of society came into force in January, 2019 7

(1) The Constitution (One Hundred and First Amendment) Act

(2) The Constitution (One Hundred and Twenty Second Amendment) Act

(3) The Constitution (One Hundred and Third Amendment) Act

(4)  The Constitution (One Hundred and Second Amendment) Act

JErEoSD efor nolrd SToH (EWS) TodS 08 H8 (10) wSo el
B8 595 228550 2019 & D S40 D550 BN SE B )5 7

(1) oramofio (.8 S08 4888 HS58) BS&ho

(2) Tarjoiio (2.8 S0 adS Bods Ned) Sho

(3) oCarofio (28 Sod Ards asde) o

(4) orzriolio (8 Sod Bods HS580) Séo

30. Consider the following statements about ‘Vande Bharat Express Train’ :
a.  Itis India’s fastest engineless train at 180 kmph speed.
b.  The train is commonly called ‘Train 180°.
¢.  The train runs between Delhi and Varanasi.
Choose the correct statement/s :
(1) aandconly (2) conly (.‘L)/a,bnndc (4) aandbonly
‘3508 oS JEY DR D' Ko Ho20HOD 808 TiPied HONB0D0A |
a. 180 8.0, Jrod AT & w02 B Bew ard8 S50’ wéjos XS0 DI
b. & Bewudh AoSeom ‘Pond 1830° e eotr.
c. & B ad-TETho &5 SBDEE08,

ROTd T iWO)D oDE Tahod
(1)  aHndcinc S (2) cSMSD
(3) a bdcive (4) aH0cin b

C S81-GS1 14
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A polymer that softens on heating and hardens on cooling is tnuwn as a ﬂmmch, Which
one of the following is the example for thermoplastics ?

(1) Melamine (2) Bakelite
(3) Neoprene (4) Polyvinyl chloride

34 Jabr Ddad, SHEST SGHE FOED TIPS voird. 1208 85
SOTRAENR AT 267

(1) Dods ' @) BESS
(3) ATBMDS @ 2255588

Statement (A) : Silver and copper are good conductors of clectricity.
Statement (B) : (lass and rubber are insulators of electricity.

The correct answer is :

(1) (A)isnot correct but (B) iscomrect. (2) (A)and (B) are not cormrect.
(3)  (A)iscorrect but (B) is not correct. (4} (A) and (B) are correct.
(39556550 (A) : Fo8 SOk TN & Dhjorsirsen.
[PaSciaSdin (B) : rrar 20k Sapdh Ddogd nodsren.

PO AT G ! :

(1 (A) DETDAS 50 5 (B) OIS

(2) (A) DB (B) SO 5.

(3)  (A) ROTAd 51 (B) 0T s,

14)  (A) 0bcin (B) MOQeda.

33. The optical instrument that is used by Army personnel to se¢ their enemies while hiding
themselves is :
(I) Stethoscope (2) Simple Microscope
(3) Compound Microscope (# Periscope
DS Bhn 354500 IS yPo Arderds T 58 dSSdw
(1) PSKD (RE SEW) (2) DOF L6
(3) Socind Ard o8 (4) RO (ROLGO)

34. The principle involved in the motion of a rocket is :
(1) Law of conservation of energy (2) Newton's first law
(3) Law of conservation of mass (4) Law of conservation of momentum
o35 Hedddnd’ candnd Hd) Ao
(1) 48 Déged s Db (2) Argtacd Jodéd Adbabadn
(3) 155507 Adged s dcbabn (@) 18530 Dégd s Dabsan

& | SSI-GS1 15




35.  Superphosphate of III'I'.IE w(J}lEh 15 used as a fertilizer is

(-l'fl" a mixture of calcium dihydrogen phosphate and gypsum
(2) calcium dihydrogen phosphate

(3) calcium phcsplyi!ﬁ'
(4) gypsum

QDT T3 “Hrod s e BR" edm

(1) s8OS B TS >0 DO 2o Do

@) 5D T EaS arayd

(€) I e WV R

(#) 3D
36. Which among the following is an amphoteric oxide (which behaves acidic as well as basic) ?
(1)  Aluminium oxide (A O3) (2) Dinitrogen pentoxide (NyO5)
(3)  Calcium oxide (Ca0) (4)  Sodium oxide (Na50)
fod ad b 88 soPr®os 55,315 (@3s2) SHBH TE Herdssy Kod) e IAID
Denardh 7
() oo eEy5(AL03) (2) BBE=S DoerEb (N,05)
(3 s8Qabo 63,5 (Ca0) (4) &ABCHO BB (Nay0)
37.  Match the following chemicals with its applications :
List-1 List - 11
a. Sodium benzoate i. amacid
b. Saccharin ii. analgesic
€. Aspirin iif. food preservative
d. Baking soda iv. arificial sweetener
808 SRrrahod 368 aITBrro s’ BEHSSISw ;
- ade -1 Do -1
a. FADSHToSDHS . i dirotr S
b. ar¥ds ii. ooQns
c @05 i, @S dorTo dodiso
d. ok & iv. B &2 s8¥o
The correct answer / O QTG0 :
a b c d

i) v i i iii
(2) i iv ii i
(3) i i i iv
(4) i v i i

C SSI-GS1 16




38.  Assertion (A) : Oils are generally liquids at room temperature.
Reason (R) : Oils contain unsaturated fatty acids.
The correct answer is :
(I} (A)istrue, but (R) is false.
{2} _{A) is faise but (R) is true.
Both (A) and (R) are true and (R) is the correct :xplamhm of (A).
(4) Both (A)and (R) are true but (R) is not the correct explanation of (A).
DBDSS (A) : 5D ST 3O STRFen Arordmorr |SS58rhod dodron.
BHWO (R): Arden @08 s sdres §8 aotran
DO QATETS0
(1) (A) D20 5 (R) S5
(2) (A)d) 5 (R) dzdw.
(3) (A)D80%0 (R) Bodor Qi auddin (A) 50 (R) SO DS
(4)  (A) HBAD (R) Bodr 2w, £ (A) K (R) HBIDS Dddea .
39.  Which one of the following levels of carbon monoxide present in atmosphere (in ppm) leads 1o
instant death of human beings ?
808 35088 esdno S 5'5}.5 3:@3,:.:5 Fan (ppm) o Ird9e SEo
SHEETVE B SO S ?
1000 (2) 100 (3) 250 2 4) 10
40.  Which of the following statements are correct 7
a.  Melamine polymer is used in the manufacture of unbreakable crockery.
b.  Enzymes are biocatalysts.
¢.  DNA fingerprinting is used for identification of ¢criminals.
d.  Tincture of iodine is an antiseptic.
1208 T3S HOTS Ddden DD ?
2 QIR Dord Sod Saird Tahard DOPS FOLES g,
b. oBSen S &S 85 en.
c. DNA Hoit8 |Dot3ofd Fdwed Hlodardt sderd.
d. $30%)5 6D oTrhS T8 .8 aiross s,
(1) abed &2 ab.e 3 be,d @ be
41.  ldentify the correct statement with respect to hypo.
i. It is used in photography.
il. It is used as antichlor.
tii. It is used as antiseptic.
tv. It is used in making artificial sifk.
i § D020HOD S0S8IE5, Eod IS HBTS g DA T
i A eSS dE
i. AV eodEBr sdEd
iii.  AAD Arodd P8 FREdH
iv. &V EYBH S} SrdS’ e
(1y i, n,iv (2) i1, i (3) i, dii, iv {4) i, iii, iv
C S51-GS1 17




42.

43.

45.

FRESHERS NOW

Read the following statements :

a.  Mendel's experiments with sweet-pea plant gave monohybrid genotype ratio of 1 : 2 : 1.
b.  Changes in gene frequencies in small population is called *Genetic Dnift’.

¢.  Transmission of traits from parent to offspring is called ‘Heredity’.

Which of the above statements is/are comrect 7

(1) aonly (2) abandc (3) aandc (4) bandc

fod IDSdaed OdS0b

a 62208 38 DoBS HTFTeS” D8 HoES BHErd N)B 1:2: 1.

b D) aergrod 3 @rdido SR Srdjed ‘@) JTNS0! 8otrd.

e. 235350 H0b e X eren J0S8E8 oS00 084TR) ‘edd0TES’ eotrd.
2 PDSSSdnes’ DO/ dz0 7
(1) adredh (2) ablbBdiwe (3) aSHdAwe (4) bSddwe

The quality of citrus fruits is affected very much by ‘canker’ disease. This disease accounts for
huge financial loss to the growers of citrus orchards. Name the micro-organism responsible for
this disease.

(1) Fungi @Y Nematode  (3) Virus (4) Bacteria
‘o85O SO A Hod s T S2)80M00. A Seen ol
SgaRrohorHen & S0 effom e SYFerd. S a8 SRS Hrfdd 28 7
(1) 3Hodo () AEE 3) B (4) 2r§dcir

The folding of leaves of ‘touch me not” plant upon touch is an example of :

(1} Tactic movement (2) Circadian rhythm

(3) MNastic movement (4) Tropic movement

‘@858’ BBed SEPTS) IR 201 oo 1§od TS GRS ATTrdn ?
(1} edSodo 2) JOpSohS &P

(3) @NHoDS Sodo (4) eHI8S Sedo

Assertion (A) : In a basket with raw mangoes kept for ripening, if one fully ripened mango is put,
all the mangoes in the basket ripe very quickly.
Reason (R) : Ethylene coming from the ripened mango induces ethylene production in raw
mangoes and accelerate their ripening.
The correct answer is :
(1) (A} is correct, but (R) is not correct.
&F  (A)is not correct, but (R) is correct.
(3) Both (A)and (R) are correct and (R) is the comrect explanation of (A).
(4) Both (A)and (R) are correct, but (R) is not the correct explanation of (A).
DE>ES (A) : Doddo Fho HD) IrNASTAH oS WwHS’ i 08 o8
SrAS oD Go0E, 8 HS'D B Sohen & PS8 dodherow.
=800 (R) : 30T H08S Srdudsch Sod Dde ©dbs IHDS WADS sabees
DS A8 FOTDODT R HEe b gBsHS0 T,
MGG RSTETR0 ;
(1} (A) QBPSS, 2 (R) 20Todd &,
(2)  (A) SOQDHAE, 590 50 (R) RO,
(3)  (A) 0Ok (R) Dodr OG0, s&din (A) 50 (R) RO Db,
(4)  (A) 0c) (R) Bod HOTDAD. 577 (A) 80 (R) SO DSB8 e,

SSI-GSI | 18




46.  Ligaments connect bones at the Joint and hold them in position and are made
fibres. The fibres are made up of L
(1) Lipid (2) Carbobydrate =
(3) Calcium compound (4) Protein
DiDoSen Jwtod doddere (Joints) S OB e HOTS TS worherow.
Socky @ FIES SodhHod' DA dotron. & Sodyen I8S Sars
= TelAge Wik -

(1) ObS (2) =888
3) sDdbo HH¥so @ &85

47. It is a well known fact that mosquito bite is the causative factor for malaria. Which of the

following mosquito is responsible for malaria ? :

{-1'}/ Female anopheles mosquito (2) Female culex mosquito

(3) Male anopheles mosquito (4) Male culex mosquito

5 5o 3§ HBOAr SW0d 8510 ©0E6E BOVS DACHD. & 808 BSIHAS
Sheod’ 26 HBoar oITDE sE0o ?

() 86 e5DO0 8D ) 68 & B8 &

(3) D eSHOBES (4) i Eryo8) 8%

48. A vaccipe contains an agent that resembles a disease - causing micro-organism and is often made
from weakened or killed form of microbe or its products. Identify the scientist who discovered
vaccine for Rabies.
(1) Jonas Salk {2) Alberi Sabin
(3) Louis Pasteur (4) Edward Jenner
TR0 EON0T IrEiAHod HFOS soros 388w EON dotran, BedrSRod
B8 SFansS K AN B8 o8 amidso H08 FHSed Sard o, BOR
T5H8 TEISD SRS T ASS 5% 7
(1 ohars (2) ey DS
3) exran® 2§56 (4) 530 B5,5

49.  The part of the brain which co-ordinates voluntary muscle movement is called :
(1) Medulla oblongata "~ (2) Hypothalamus
(3) Cerebellum “f Cerebrum
Sodoro AdLo8é DOTON BDNOTROT TG 2PmdE Ko D9 -
(1)  <Sgrdopo (2) Tooodd
() o0 (4) SHRN0
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FRESHERS NOW

50. Read the following statements :

51

a.  The lens present in human eye is concave type.

b.  Far-sightedness is called hypermetropia.

€. One of the functions of ear is to maintain balance or equilibrium,

Which of the above statements is/are correct 7 .

(I) aandc .(ijﬂ,hﬂndc (3) zandb (4) bandc
1506 |Deitindanen TH¢adein

g SS90 oS dol Eb¥o Hersd Sfo.

b. &G G0N 3rHb DS Dol wotrd.

c. Mddeisn Bor HdhEr DA srddro T B 2.8 DA,

P S5 SSSno S 28/2D D=0 ?
(1) asoBcine - (2) 2,bdCwe
(G) adBw b (4) bSO

Which of the following statements is/are correct ?

a.  In humans, red blood cells lack nucleus.

M People with AB group blood can donate blood to any ﬂmergrwp
eparin facilitates blood clotting,

aandc _ (2) aonly
@ aandb (4) bande
1508 |HSSdSned’ DE/AD Do 7

8. ArdJod JY Sikeren Soldsw) ¥ dwods.
b. AB 88 3%0 DA% TS S8BT 58 oo S0,
c. arrds 080 ¢ ELTRE STEH&0d.

(1) adawe (2) adredd
(3) andcwb (4) bBdDe

52.  Bacterid are microscopic organisms. However, there is a bacteria which can be seen with naked
eye. Identify it from the following : :
(1)  Clostridium pasteurianum (2) Thiomargarita namibiensis
(3) Cornebacterium renale (4) Agrobacierium tumefaciens
2ri00iren &8 Ard RS AP wand 50 L0888 SrEKOS wribair 2868 a5 .
R Bod o8 hod Hddod.
(1) s RAHo F4 8IS (2) Ao SDAHSHD
3 8 rf80hS 878 @) o 288005 enDHHTHS)
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FRESHERS NOW

£3. Read the following statements :

a.  The tendency of pollutants like lead to concentrate as it moves from one trophic level to
the next is referred to as ‘Bicaccumulation’.

b.  In marine ecosystem, the biomass of producers is less than that of primary consumers.

c.  The flow of energy from one trophic level to next is associated with loss nfcnﬂ'gy

Which of the above statements is/are correct ?

(1) aandec (2) cﬂnl}' (3) aandb (4) bandc

1fod [Hadmred SSd0b

a 200 (lead) ero sevdrjen ©HEH Feodnd'D ¥ &A% Fon wod Shas
FAE Pond’ To roldEyso edbh; ImR) 2TreHIHTAS ©0LrS.

b. &334 (marine) 8380 SS9 & 18orthe A SS50? 1HGD T

AS 1555077 S0t S&up.

c. 28 DFAE grow Do Sorgd FAE Front 38 Dardo 268D M Tod 18 S0
@008,

2 DSSTOSDA/D HBTED ?

(1) addcdve (2 carmeh (3) a0cknb (4) bBcswe

54. Match the following names of plants with the groups to which they belong :

List-1 List - I1
(Plants) (Groups)

a. Rauvolfia i.  Medicinal plant
b. Parthenium ii. Endangered plant
e. Jatropa iil. Invasive species
d. Red sanders iv, Bio-fuel plants
208 InEie DD I8 o BSOS AD

aDer -1 aDor -1l

([ en) (asioex)
a oSO i. Tada=a
b. >EAHO (HAirgO 2red) il eDAS &d) 2ra
e BED (BB BI0E0) iii. oEo0 e
d &% Soss0 iv. 23 @08 Ik

Correct Answer is : /&8 QO RNarTaO
a b ¢ d
o @ v i i

(2) i il v i
(3) ii il i iv
(4) i iv iid i

C SSI-GS1 | .
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5.

The purpose of using an electric fuse in an electric circuit is

(1) toconvert electric energy into light energy.

(2)  to reduce the electrical energy consumption in the circuit.

(3) toclose or open the electric circuit.

(Y to protect the electric circuit from excess electric currents.

2.8 Do soohod DS S3set ardfo S EOT HTraddw
(1) Doy 450 5o #8mr Srdo yeodh.

(2)  Sechos Dedgns VTIrHLD SHothers.

(3) NS OCra) Arahedh Sor 85che k.
(4) DDA S IS LTS o L othhd,

When ice melts, its temperature

(1) decreases (2) first decreases and then increases
(3) remains constant -.i,4‘)” increases

200t SEDAD) 30 R Arf)es

() &ihéood (2) [dé &) dadoared NS0,
(3) QPsomr aotunod (4) DSHéodH

The brightest planet among all the planets is :
& Venus (2) Satum (3) Mercury (4)  Jupiter
&) iSfod’ 3 1Hridosd |
(H  HEodk (2) 42 3) 2wt 4) H

‘Global Warming’ is a contemporary environmental concem. The group of gases which
contribute to this are :

17" Methane, Nitrogen dioxide, Ozone  (2) Nitrogen dioxide, Hydrogen, Oxygen

(3) Methane, Nitrogen dioxide, Oxygen (4) Methane, Hydrogen, Nitrogen

Zri'e &ho (28 3000 o336 H05ES HoSSn D00 & DD ErAHT
PAINABE) RAAPATSD

(1) FS,JS2SB 658,488 () SSHIB GBS, ES, el ns

(3) B JS2S BB, 08z (1) DFS, T=S, [ E=S

In the following s which is ferro-magnetic substance exhibiting unique behaviour ?
(1) Bismuth Iron (3) Manganese (4)  Aluminium
1808 HoTod DOLHPD HarS50 (D860 D echdyos Hord Ho 7

(1 DHE (2) asw (3) Srofah 4) eorodcho

The shortest distance travelled by an object in a specified direction is called :
(1) velocity (2) scceleration (3) speed -ﬁ? displacement
2.5 ARVDS IS’ I0H HAPBoDS 98 53 Srdo

(1) S (2) S382d0 3 X8 (4) & |(Podsw
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FRESHERS NOW

Match the following early Satyagraha campaigns of Gandhi wiﬂry ﬂplﬂr problems he addressed :

List — 1 (Places) List — H (Problems)

a Durban i.  Tinkathia system in Indigo cultivation

b. Champaran il.  Racial discrimination

c Ahmedabad ili. Peasants oppression

d.  Kheda (Kaira) iv.  Mill workers strike
1508 MO8 2008 SO JNEryfer AdISrod &5 36 HDES) Dbdiod 2aSShsw.

e - | (o) ader - 11 (HHLen)

a. QoYM i D ok MHS'D sosadsr HE8
b.  ©S50HT i, ared DSKe

. @XrATTEreD iii. Do eedIs
d. B EH iv. Doew 50%e (P

The correct answer is : DO DAFETSO
a b c d

) v i i i

@ i i v i
3) u 1 i il v
@ i iv i

The Jallianwala Bagh massacre occurred in 1919 when hundreds of innocent people were killed.
In which state Jallianwala Bagh is located ?

(1) Gujarat (2) Kashmir (3) Rajasthan -(4{ Punjab
1919 HoSé 508 2HDS o HorESosS Soderd wlrabien SodaFh.
200HS Frerarfi 2 o aos’ Hob ?

(1) Hz=os (2) =6 (3) oayrs C @) Do=dS

What was the slogan raised by Sﬂw for his Indian National Army (LN.A.) when
it joined Japanese forces on its march against Burma and India ?

& Inquilab Zindabad (2) Delhi Door Hai

(3) Chodo Delhi (4) Chalo Dethi

208dDS FA56 88 D.I5.2) A 228 Didod To voy, résdion ol
2EHNTOAD I 02rR LOIAE R 45 PASOD AD IR AT SDO ?

(1) 2adysord Boorard 2) adsrs3r
3) S84 4) 3S'ad
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64.  Assertion (A) : English language played an important role in the growth of nationalism in the
country.
Reason (R) tl')’ Indians felt the power of English language in Wordsworth sonnets about human
li . :
The :ﬂr::-tbr answer is :
(1) (A)is true, but (R) is false.
(2)  (A)is false, but (R) is true.
(3) Both (A) and (R) are true, and (R) is the correct explanation of (A),
J#4r~ Both (A) and ER} are true, but (R) is not the correct explanation of (A).
BSOS (A) : 190 DSHSOH ol 37 WD DS M Sirodod.
SOWOR):  ArSH0 Jydole Hard K0S 5§ S8 $dserés’ woll 2rh Darad)
ardacine) SIErT .
O AATETR0
(1) (A) dalw, & (R) $3).
(2) (A) S3) 52, (R) Qzaw.
(3)  (A) S8diw (R) Sodrr Azedn, Subdin (R) (A) 50 ST adde.
(4) (A) SHBG5 (R) Dodr Azaw, 52 (R) &0 (A) DB DS s7e.

65. In the administrative system of the Qutub Shahis, * -Jumla™ was an important officer. What
was his main duty 7
(1) To head the finance department (2) To supervise the Mosques
B3] Tolook after irrigation department  (4)  To supervise the religious officers
506025 IO HETFOT DEH0S “QB-2rAT 7 2.8 (DS 058, S (HEO WS IO 7
(1) offrgrdHddisn.
Q) o 2D Jawe.
(3) QAB>HEO Darmr) DEsHE o,
(4) EHrhoD B350,

66.  Match the following festivals with their significance

List - I (Festivals) List = I1 (Their Significance)
a. Muhammam 1. First day of Shawal
-~ b.  1d-ul-Fitr i, Sacrifice of goat/sheep
¢. Id-u-Zuha ili. New Persian Year
d. Nau-roz iv. Tazia Procession

208 Sodiod o8 Bradiesd aé Haindn.
avDer - 1 (Sodoien) ader - 11 (PrSupgd)

a. Swdrdo i, XIS TSSO

b. =8 ad Hab i E/MB 20 Jabddo
c. HAyardr ii.  ardye Srdéd Soséydo
d. JFEs iv. =2clr @8hoD

The correct answer is : BTDS DSrGrdo :
a b ¢ d
(1 i Wi v i

(2) v i i il
(3) i i v 1
,[5? i v i il
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67. The Battle of Plassey made the British to attain political ascendency in India. wWhich of the
following were the parties to fight in the Battle of Plassey 7

JA7T  Siraj-ud-Daulah and Robert Clive ~ (2) Tipu Sultan and Lord Wellesley
(3) Akbar and Hemu (4) DBabar and Ibrahim Lodi
Fh dnddw résdiod’ 1D 0 oralah ®OFS TN ToaN0d. & dndo
(B0& BODS 0S8 D3BS0 Hds 20n00 7
(1) doF aFo-oof 39 Q) 83) TS - of I
(3) ﬂﬁzd: - D 4) oo -aeroSd

68. The Railway Budget was separated from the general budget in 1924. Which one of the t'uli:rwmg
committees recommended for such a separation ?

(1) Nicholson Committee (2) Robertson Committee

(3) MacLegan Committee (4) Acworth Committee

1924 Hole 508" BB S, o 2GS Hod 35 Dobnbod. o8 JoriendH
NG TR D08 1B0d 8IS 28 ?

(1) DS EXoes 2) oafHS 5

(3) DSOS gued (4) o556 snes

69. Which one of the following was not a part of the Government of India Act of 19197
(1) The universal franchise was introduced by the Act.
There was to be two houses of legislature at the centre.
(3) It gave more powers to the Provincial govemments,
(4) It introduced Dyarchy in the Provinces. _
1919 2188 |HZ0e 52 BSNSH Ho2OHODS 1508 HIBDIANOS O HOT/AD & ?
(1) &rdsans dén i 000808,
(2) SolBoS Bodk HFen fe TR 2 Jorytonod.
(3) o PdbeEr o HBR) edsoren sdorow.
() OArosS G5085 190 50 0" ILON0D.

70.  Which of the following does not apply to Tipu Sultan’s administration ?

(1) He introduced a new system of coinage.

(2) He introduced a new method of weights and measures.

(3) He introduced a new calendar,
{4y~ He shifted his capital from Srirangapatam to Mysore.

& 1208 1HSDddneS’ DA $5) DU H0TOS HOTLHO S 7
(1) &k S H08 Hod RIS,

2) ©&& TS Srdfen, Fodod HIFY.

(3) @& TS Ti0odbd |HITDR 0.

@)  ©dd &5 TaTAD 3oiHer) o Hod DAL S8 5.
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What was the plough h?ﬂ'?’? during the Vedic period 7

(1) Satamana (2) Nishka
(3) Sira (4) Sita
SOE rood TEO AHT %7
(1) O (2) DAy
@7 8 4) S

72.  Which one of the following statements is not correct regarding Indus Valley Civilization ?
(1)  They used burnt bricks for buildings.
(2) They used iron implements,
{3 Indus Valley people built big cities.
(4) They were not war lovers like the Aryans
oG S'ah THBESE H020B0D coF 1808 DISTOS DA HBIS & 7
(1) &% Hdvrobo 50348 atuen adHdirhord.
(2) S 23S S80S aadirloord.
(3) ot Soh Haen 1 Soreds Do .
(4) estge 58 S g Dolven s,

73.  Which among the following vows was not advocated by Parsvanatha, the 237 Tirthankara ?
(1) Not to steal (Aparigraha) (2) Not to marry (Brahmacharya)
(3) Not to injure life (Ahimsa) {(4) Not to lie (Satya)
& 1500 a3’ 238 adosSich G R APD0BA ATMS0 DO 7
(1) o308 (2) &0
(3) erod (4) Hédgo

74.  Who among the following was the Greek enginger under Kanishka to produce artistic creations 7
(1)  Vanashpara (2) Eucratides '
(3)  Agesilaus (4) Mathara |
& 1800 70, LD $00S" Jgard ¥ Fod HRodd (Pow (% 02D
aedh 7
(1) 3836 (2) cSolERs)
(3) oOfoR (4) Seo
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Assertion (A) : It is said that Satavahanas had lunar origin. |

Reason (R) : The Satavahanas are equated to *Saptavahana’, the Sufi’s Chariot with Seven Horses.
The correct answer is :

(1) (A) is true, but (R) is false,

(37" (A)is false, but (R) is true. -

(3) Both (A) and (R) are truc and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
DBIES (A) : TSR SO(SHS” &80 Fodd edrabsw.
s8wo (R) : FSITHen I Hioren SOAS Ardyd S508' Soyolard.
QBPWS Ddrerdo

(1) (A) Q280,52 (R) S0

() (A)S3ISR, (R) D2,

(3)  (A) =B (R) Bodr Des5w, SH8cko (R) (A) S HOTS Dides.

(4) (A)00d (R) Bodr a5, 5% (R) 50 (A) SOTS DSden s,

Assertion (A): The Mauryas established an elaborate system of administration as Kautilya said
that the administration cannot be the work of one man, just as one wheel cannot drive a cart,

Reason (R) : Sungas, the political successors of the Mauryas did not follow such a policy.
The correct answer is :

©F  (A)is true, but (R) is false.
(2) (A)is false, but (R) is true. |
(3) Both (A) and (R) are true, and (R) is the correct explanation of (A).
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(A): FSengdd THINEN 208 2¥ SHod IBIBILY, FTgen NGO
D5 Do HoTOT IFSIND DE 1B
FEWOR):  Tsen orzfoh FENBD ol oraren e HORD 8EB0S VK.
0T MATTN0
(1) (A) D250, 52 (R) €23,
(2) (A)&$:3)5R, (R) Qaadw.
(3) (A)Ddain (R) Bodir Radw, SHOCK (R) (A) 50 JOGS DS56.
(4)  (A) 000 (R) Do Q23 SR (R) 50 (A) DO DS 5.

After the death of which emperor of North, Satavahatnas rose to political prominence ?
(1) ChandraGupta (2) Samudra Gupta (3) Bimbisara (4) - Asoka
HS3B5Y O SES8 HderSosdo Téairden crafchor 850806 7

() SoldiHD (2) RS HA (3 Dod>HH 4) eI’

Sacred Buddhist literature in Pali in the form of the three Pitakas is an important source for
ancient history of India. What are these Pitakas 7

(1) Vinaya, Sutta, Abhidharma

(2) Mahabhashya, Samhitha, Arthasastra

(3) Lalithavistara, Divyavadana, Mahavamsa

(4) Dipavamsa, Mahavamsa, Jataka

erSSTE 1O BSOS P arndS' HAS T TFI0H HoSd Srdh DerEen D&LO

(6T BCrTren. & ooy DD 7

() 3%, Hé, DY) (2) ohdferig, DO, TN,
(3) D& DErS, HS5TES, SHIrS0d. (1) BH304, TES0E, e,

L
o
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81.

82

Tuzuk-i-Baburi, the memories of Babur was originally written in which Janguage 7

V" Turkish (2) Urdu (3) Persian (4) Arabic
er2ol eeh )58 “hoerl - 2rnd” Dodiey d 2rad rohadod ?
(1 &Ha 2 &% (3) DEaADS (4) 3DE
Match the following kings with the monuments they constructed :
List - I (King) List = Il (Monument)
a. Akbar i.  Jama Masjid
b. Jahangir ii.  Rabi’a Daurani
¢. Shah Jahan iii. Agra Fort
d. Aurangzeb iv. Itimad-ud-Daula’s Tomb
1808 oraren, 3% 3000 EHaro s 2 HShdw ;
arDer - 1 (ovey) Do - 11 (¥§tho)
a. o505 i 2 DS
b. &:ohb ii.  6Hdr T'oR
c. arasrs i, er Sy
d. TSokES iv. QWA Ber HArd

The correct answer is : DO HAFTHO:
a b .e d

Ay @i v i

(2y i i v i

3 v i i i

i v i i

At which of the following places Harsha arranged Moksha Parishad 7

Kasi (2) Mathura (3) Kanauj (4) Prayaga
& (808 0B S T8 SE0 Bod HOASED D53 Dot T 7
n =3 (2) ognd (3) & @) (Do

Which one of the following statements is not true of Mohammad Ghori ?
(1) Mohammad Ghori was defeated by the Rajputs in the first Battle of Tarain.
'(2) He appointed Quitub-ud-din Aibek as the Govemor of his Indian territories,
(3}  In one of his expeditions, he attacked -Somnath temple and plundered its riches.
(4) He defeated Prithvi Raj Chauhan, the ruler of Ajmer in the second Battle of Tarain.
A0 B0 e HBODS 1508 BSSSSnes DA HOTIS .
(1) 3wese 0BS andos” 2o Tudrdd oradided LaodadE.
(2) és8ios = zowodd |Tomod HEWES Dol  ASS %
(3) ®EJ a8 SoAAMSS FHTE Frodhind S8 ©dI8 SSobhod
g AT AR

@) ki TRS Hybsoe TFSH BodS &BS dudod 4803,
The famous musician Tansen adomned the court of which Mughal emperor 7

(1y Jahangir (2} Shah Jahan (3) Humayun (4) Akbar
(Harge Sofid o soiudh @SS 2 Inen HES8 eFdsns’ aoB ?
() 2rohb (2) IS (3) oSN 4 55
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84. Name the Asaf Jahi Prince who in 1839 headed the Wahabi conspiracy against the British in

Hyderabad. '
(1) Mauzam Jah (2) Mubarez-ud-Daulah
(3) Turrabaz Khan (4) Azam Jah

1839 Sosd o D 708 SR0%or aurd HOH TADES0 SroDS
OO wnperar oriardTaln 7

(1) oFaso Sy (2) b &l Ter

(3) doorn o (4) ezroly

Which of the following statemeénts is pot true regarding the religious policy of Akbar 7

(1)  Fanatical Islamic clerics supported his tolerant religious policy.

(2) His Hindu wives played a vital role in his religious policies.

(3) His parents had considerable influence in shaping his religious outlook.

(4) His guardian Bairam Khan had great impact in moulding his religious views.

1808 (HSSSSne S @815 D Derdsndsy H020H0D OO HOTHA 57 ?

(1) S & A0ED5 TR BSTEDS AT0 D DPew Krd ©DIrAoNB.
(2) & Irodr rsen Bk ©@HI80DS L DordsuD FH) 1Derso Srhd,

(3) 8 $Ddo|den 85 HEHEPS BSBSLh rer SBH 1Herddo T,

(4) ©SD H08 e L5 BEo S ©8 HS DFII0D (H2rdSo TobADAS.

Which Mughal emperor built Buland Darwaja considered as “one of the most . perfect
architectural achievement”, to commemorate his victory in the Deccan 7

(1Y~ Akbar (2) Aurangazeb

(3) Babur (4) Humayun

T SvbEr; 0di0S HOFYDSAT N0 Fodd werod G ss & i BIES0
&5 &8 Soddimde Jasad Arcddsum AdjoT 7

() %5 (2) Zdofidan

(3) ral ' 4  Soshcinm

The most important feature in the Ryotwari system of land revenue administration was

(1)  The land rents were collected directly by the government from the ryots.

(2) The right 1o collect rent was sold in auction to the highest bidders.

(3) The land rents under this system was paid in kind and not in cash.

(&)~ The rents were collected by the Zamindars on behalf of the government.

BErsd 3 SHren H$8 &' (DS wodin

(1) Zirndaw Déve Aod (S0 th FHhmr Sdren IS,

(2) D 3 Saren T o580 Foo Jreor b Fndo BoT 08 Tolo.
(3) &35S Frdd I &S ErHod mE s Brned BT 5.

(4) & 3 HZhe sHdomr socrd) Sarey Tad 2.

SSI-GS1 | -

29



BS.

89.

FRESHERS NOW

Which of the following terms refer to village accountants during the reign of Alsuddin Khilji ?
oy Patwari (2) Choudhari  (3) Khot (4) Mugaddam

B TIOS DY Horos swod & (1§00 DEN) T8 MD BHod fdod 38D
DDA HOT > ? |

() DJergd (2) J&8 (3) &5 @) Swpgo

Who among the following is reported to have said : “Hinduism is the soil into which India’s roots
are struck, and torn out of that, she will invincibly wither as a tree torn out from its place.” 9

(1} Annie Besant (2) Atmaram Panduranga

@y Swami Vivekananda ) Swami Dayastnda Saraswati
“CrodrdnT FSod rESEED Sreren Sydor FHBdonaron. D8
TS0 ADNONS, ZrnS Hod DEDOBDAS TEPSB I300 HHI” 6 8od
28,8) TS’ 58 Ty ?

(1) Doty (2) e 50 >roddol
(3) A JIES08 (4) arged Salrdods HEH S
Match the following novels with their authors :

List — I (Novel) List — I1 (Author)
a. Indulekha ..  Devaki Nandan Khatri
b. Godan ii. Rokeya Hossein
¢. Chandrakanta iii. Prem Chand
d. Sultana’s Dream iv. Chandu Menon
& 808 S0 ¢S Shansdd’ 2aHE 8D ;

2 ler -1 (HS0) arder - 11 (5SS o)

a. aodp i T8 S0 i
b, Aod ii. O3db IR
. oS o i, DS S0
d. Hoahido iv. 5o WSS

The correct answer is : RO TR0
a b c d

1y iv i i il
2y v i i ii
(3 6 v i i
(4 i i iv i
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List-I (Iron ore mine) List-I (States)

a. Dalli-Rajhara i.  Jharkhand

b. Ratnagiri ii.  Odisha

¢. Noamandi iii.  Chhattisgarh -

d. Gorumahisani iv.  Maharashtra
(808 832 B85S,

erder -1 (@dd réH Q) Do - 11 (ojaren)
(8) 8D -oeb M ergod
(b) Se&yAdH (i) 2.3
© FHoh - (i) SBRHE
(d) A& oerard {iv) soaForia
Correct answer [ 2D el G0

a b c d

(1) i iv i il

(2) i iv ii il

(3 di i v i

(4) 1 v i it

Which of the following is the easternmost tributary of the Godavari river system ?
&¥" Pranahita (2) Sabari

(3) Kinnerasani )  Indravati

808 78S Forsd 86 35359 Sng) ©8508 SrdIs @) BOR0 08 ?
(1) Dedrs @) 328

(3) 835D 4) SITIS

Read the following statements about the definition of Urban area as per Census of India ;
8. A minimum population of 5,000

b.  Atleast 65 percent of working population engaged in non-agricultural pursuits,

¢. A density of population of at least 400 persons per sq. km.

Which of the above statement/s is/are correct 7

(1) ‘b’ and ‘¢’ only (2) *a'", b and ‘¢’

(3) ‘a’and ‘b’ only 4 ‘a’and ‘c’ only

TESTH sorer Do 195760, ILn |Tome GInEy ASISTRE Dowodod 1Bod
ESELATN ISRV E ata™TeTs 3

2 S0 3 5,000

b, 50300 65 70 (10§ BTer, S5 EhES oo’ HAFeHSo.

c. SR 25T05 400, DB SS55D L0 % |

B DO 1055 DA/DD HOTSE/SBTDID.

(1) ‘b’ SoBaW ‘¢ SMSDH (2) ‘a,‘b’, O ‘¢’

() ‘o oo ‘b SMSDH @) ‘3’ DBk ‘¢’ IS

SS1-GS1 31




FRESHERS NOW

94.  Which of the following Union Territory has the lowest sex-ratio (2011) ?

(1) Dadra & Nagar Haveli (2) Andaman & Nicobar
(3) Daman & Diu (4y" Lakshadweep
800 0|5 FDS PFrowred wsio) |R-3HH KB (2011 S Ko (Frodo
(1) o ooy a6 rad (2) ®@o&HArS Dbk VS
(3) @S OCkD Sy @) oidh
95.  Which ong of the following pairs related to hy_ltg-elecn'icit',- projects and rivers is not correct 7
(1) Salal - Tapi (2) Tehri— Bhagirathi
(3) Dul-Hasti - Chenab (4) Jayakwadi — Godavari
1808 DELA) 26 D@ 0l0ren S8Ck ¢ Ty Sthe HBOD HOSR 2d DA 7
1 dod-wd (2) Slr-3H5e
(3) SHEITR-dad (4) ZaHs 3 - Forso
96. Find out the sequence of the major states which have the highest degree of urbanisation as per
2011 Census.
& Kerala b.  Maharashtra
¢.  Tamil Nadu d. Gujarat )
2011 30°gr BE O D500, ©S08 Frond’ HLBE5 B3) 1DHES Tl IHD (F5D)
eotoh. '
a.  Bo¢ b. 0O
c. So¥ordd d thzod
(1) b,dec.a (2) b,cd.a
(3 acbd - 4) cabd
97.  Where is the southernmost civilian Airport located in India 7
(1) Kochi (2) Tuticorin
{3 Thiruvananthapuram (4) Port Blair
r6STH0S 08508 BLTS aS) BB IITTFHOIE?
@ D) Q) ensess .
(3) adSSosndo @ &% pohb .
C SSI-GS1 2



Match the following ports with the States in which they are located

List-1 List-11 S
(Port Location) (States)
a. Okha L Tamil Nadu
b. Thalasseri .  Kamataka
¢. Ennore ili.  Gujarat
d.  Panambur iv. [Kerala

(Bod aDYS RS’ LABIOE T O 2SHES S,

Do -1 awder - 11
(2.8583pen) (o)
a A3 i, Sfadh
b. SoR)d ii. Somes
c. amb i, Mscd
d. Ddoars v, B¢
Correct answer / 0D DSPEISO |
a b c d
(0 v G i

& 4 IR il iii iv

(3) i v i ii
(4) i v i i

99.  Consider the following rivers in India from North to South and identify the correct sequence :
a.  Mahi b.  Sabarmati
c. Tapi d... Luni
Eod DEN) 7EdBE SedS, adbo Mol Shoo By JHOTS SHDH Eod
8o,
a. ooy b. e
c. &% d. . &8
(1) abde %ﬁfthnc
(3) bdac 4) dbca

100. The total road length and Right of way (ROW) of the ORR Hyderabad respectively is :
(1) 158km.and 145m, (2) 152k.m.and 150 m.
(3) 158 kam, and 150 m. J44) 152 k.m. and 145 m.
wiorerd L.eb.eb Qnd) Jndo Fcp SdH Hoain B 6 I (ROW), SSHm
(1) 158 8.2p. 208aiw 145 &, (2) 152820 S8a80 150 &,
(3) 158 8.0, Jo8ckn 150 o, (4) 152 8.20. HBacs0 145 2.

C SSI-GS1
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103.

104,

108.

106.

The Surma Valley which has reserves of mineral oil is located in: = s v
(1) Himachal Pradesh-." (2)  Maharashtra

@~ Assam | (4) Guijarat

SES wond (pz Boo) D send) Hoomg S'ab o oo

(1) rSrsSS 1057 () ST

(3) ey # @) Haods

‘Marble Water Falls® (Dhuandhar Falls) is connected with which river 7

(1) Banas & Periyar

(3) Tapti (4) Narmada

‘rdyd zodrdo’ ([oarodih rd)) o &

(1 a0 () DO

(3) &38 @) S8

Which of the following is NOT a foot loose industry ?

&1 Cement Industry (2) Cotton Textile Industry
(3)  Sugar Industry (4) TIron & Steel Industry
(208 TBS" D& HSerr JHOED o ? 1

(1)  NDotw HAES Q) D8 J e H/ES
(3) 588 3/Fn (4) 2Ddw SHdcin oy HoIFED

Telangana’s decadal population growth rate has been continuously declining since ;

Boorre Bk 7 ser DHH S B 2 STR0 Hod DdoSSom Shdr SNod ?
(1) 19912001 @ 20012011

(3) 1971-81 (4) 1981-91

If the time at Greenwich (0°) is 8.15 am, what is the local time at 45° East longitude ?

(A DS (0°) 3@ HXOHO ASAHO 8.15 LoNHHE, 45° SrH) BTOFOD TE JSaHo
0 WeyHod ? ¥

() 1l.15am (2) - 11.00 pm

(3) 11.00am (4) 1130 am

The Topographical maps of India is published by :
FESTE S rES SriD I (HHdoT Doy
(1) NATMO @Y Gst
(3) NCERT (4) Sso1
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108.

109.

110.

111.

Kanha National Park belongs to the bio-geographical areasof .o h. 7% v

Tropical Rain Forest (2) Tropical Thom Forest
(3) Tropical Evergreen Forest (4) - Tropical Dry deciduous forest

57, BhSS by 2O ATITDED SromR8 HoVOHODNE ?
(1) echd ST ewdyen (2) wchd Swod wdyen
(3) @dhd Hes rdS vdHen @) ®&cHS bh) eHoD)sedden

The Teak grows abundantly in the areas of

(1) Western ghats {3 Assam, Meghalaya

(3) The western Himalayas (4) Central India

B SyTen T Somr DO Froeren o

(1) H335 Sdoswen (2) &0, DIrodd

(3)  DTRD TSrodire (4) ?:-cu{_e.:@ aofair

Which of the following is contiguous to Tadoba Andheri Tiger reserve ?

(1) Kawal (2) Mannanur

(3) Amrabad ' (4) Kinnerasani

808 TS D6 S8z eoTo LiIb dath s5 HEN SHTA A0 ?
(1 g3 (2) dyard

(3) eSred (4) &S] 6

Total Fertility Rate (TFR) is highest in the states of :

(1) Maharashtra, Gujarat (2) Madhya Pradesh, Rajasthan.
(3) Karnataka, Tamilnadu {4 AP, Telangana

Ao HomrS's 18 Bew (TFR) o&;050r &) TaFeD

() Lo, Hhaod (2) DGHDTT, TBP'S

(3) Eomy&f Sudard (4) eo|PNTS, 8vorre

India’s top three import items (value) during the financial year 2017 :
(1) Petroleum Products, Electronics, Gems & Jewellery

@7 Gems & Jewellary, Petroleum Products, Machinery

(3) Petroleum Products, Gems & Jewellery, Electronics

(4) Petroleum Products, Chemicals, Electronics

rESTH0, 2017 @0E HoSSysoS HHHE FES) drde WES Sibdeden

(Denssh

(1) SOcho e en, JO|FRS,), S8 a0 HOChn eideren.
(2) Seyen HB0 ey, DSDoHo e e, WHH.
(3) DSOcHo adyden, S en HOWD BB, JOFIE,).
@) 2SOcho arebyen, Srcharen, JOFRE).
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112. Which of the following location is significant for renewable energy generation in India ?

(1) Muppandal &) Nellore

(3) Velankanni (4) Guna.

S0 8 28 B0srS .;g.éﬁm';cﬁﬁ #88 SniPs HTdo
(1) SwdHyoad (2) Terd

(3) Jeosdy @) e

113. *Hangul’ is a critically endangered species found mainly in the State of

(1)  Arunachal Pradesh (2) Jammu & Kashmir
(3) Kerala 4 Tamil Nadu
wdi08 (DSrSi8or ®08800FEDh HOPHoS &l 'Tond® & zody
DS oLisdhs TR0
(1) oferdd |HET (2) 230 Ok 90
(3) Eo¢ 4 SYTW®
114, Ramgarh, Hutar and North Karanpura related to coal mines are located in the state of :
(1) Odisha (2) Bihar
(3)  Jharkhand (4) Chhattisgarh
ES S 1% H020H00 THHNG, e DO aSd SESIyS fio oo
(1) 242 2) Hirs
(3) =808 @) S8

115. The number of states at present which fall in the catchment area of Godavari river
(B0 Fordd S8 Ty HoTrs rodod e T e N0 o 7

a 3 @ 7 @) 4 @ 5
116. Arrange the following iron-ores in descending order of their metal content :

a.  Magnetite b. Limonite

¢.  Haematite d. Siderite

208 HBLS) 20D réIon TES 00T P HorFTR) v eS0T L;-::nc:sd‘
0508 Jek.

g,  SrfyTds b. O3JrZH
c. o d &3S
Select the correct answer /8D SATEI0 |
(1) abecd (2) d.acb
(3} acbd W ¢ abd

C SSI-GS1
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Arrange the following areas of India, in the sequence of lower to higher rainfall.

a. Eastern U.P. b. GangaDelta

¢. Westem U.P. d.  Sahyadri

(1) Sahyadri, Ganga Delta, Eastern U.P., Western U.P.

(2) Western U.P., Eastemn U.P., Ganga Delta, Sahyadri

(3) Ganga Delta, Eastern U.P., Westemn U.P., Sahyadri

(4) Eastern U.P., Ganga Delta, Sahyadri, Western U.P. _
200 HELS) 2888T [romod’ 85yd drso Hod wdE Sdréo JoBdod
Bromred SHO $00S’ HBopSw.

a.  &Srd)asd | HBT b. o3y

e BB BSS (HTF 4 de

(1) D58, Ko Ber, &rdh) SSSNET, 5330 &S 5DHEY.

()  HT50 aSSNTE, drdd) aSSDHEE, BordeT, IO,

(3) flomr B¢, Srd) aSSHTE, 535 S HET, DSS.

(4) &rd) aSSOHTE, for T, A, H30 GBS IHTT.

118.

119.

Which of the following statement/s is/are correct 7
a.  Kamuthi is one of the largest solar power projects located in Tamil Nadu.
b. In India, geothermal power plants are located in Manikaran in Uttarakhand and Puga

Valley in Ladakh.
(1) Both'a'&'d’ (2) Neither‘a’ nor ‘b’
(3) ‘a’ only - (4) ‘b’ only
1808 1HELSOS HOTAS O/AD 7

8 SETH o RS H&) ESnd’ A6 D@ 0180 88 DE S [Frafod’ a8,

b, rdéd¥od 2ard5S DS 1§ Fotnen adopol SV HASSS DB
oG5S’ T S'ah 5O FHoSDAID.

(1) ‘2’ HOc» ‘b’ Bodr Srar 2) ‘a’ SHOAD ‘b’ Bodr s

(3) ‘o’ Arieddd (4) ‘b SMSH

The number of Urban agglomerations in India with a population of one million or more as of
2011 census are :

rssBiod’ 2011 a2y B0 H500 20 oo 2T 0B MS fo e
MDErOire) DO}

(1) 53 @&y 6l 3) 35 4 51

Which one of the following Nugclear power station has the highest capacity in India at present ?
(1) Kaiga &7 . Kakrapara

(3) Tarapur (4) Kudankulam

208 DEN) roaBios s fomrod HNEo ®&iN8 sdlpd
g0 e Bollo D& ?

() 3m @) suE>S
(3) ewoyd (4) SrdoSoo

S81-GS1 3




121. Match the following

List -1 List - I
(Scheme) (Objective)
a. Pradhan Mantri Kaushal Vikas i  Providing requisite skills to poor for
Yojana (PMKVY) managing their institutions,
b. Prime Minister’s Rozgar Yojana ii. To encourage skill development for
(PMRY) youth by providing monetary rewards,
c. Deen Dayal Upadhyaya — Grameen iii. To convert India’s demographic
Kaushalya Yojana (DDGKY) surplus into a demographic dividend.

d. Aajeevika iv. To provide self — employment to more
than a million educated unemployed
youth.

2 DS :

Do -1 - ader-1
(sDPES0) (©fs0)
8. (Derddos B DR Arasd i é08 0 Hope Sk
(PMKVY) B305FS Payerioed £6 0,
b. HDerddoe F5rb Trad i S8 advddien 0 0 oo
(PMRY} cinSeseS’ Ty D300
|EFes yaroTds,
¢. &S Saird adorcdh (raneS Gl rSSTE amrer Dibhensd, s
THey Trad (DDGKY) S2ToSM Srdn ye.
d A8 | iv. &8 OHS oSS S
Cl0e)ed S0 D LOD0 Al o).
The correct answer is : /D& Dargrard) hlodod :
a b c d

(1 i iv iii i

(2) iii ii IV i

(3) i i id iv

A v i i i
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FRESHERS NOW

Which of the following statements is/are correct 7

a. India's foreign exchange reserves declined from $7 billion dollars in 1979-80 to just 3600
million dollars in January 1991.

b. In 1979-80, India’s foreign debt was $18 billion dollars and by Margh, 1991 it had risen to
$90 billion dollars.

The correct answer 15 ;

(1) bonly is comrect. {2) Both a and b are not correct.
(3) Bothaand b are cormrect. (4) aonly is correct.
1508 i DO/ IBSS 7

2.  ES |HHS5H TR SrdE ddoen 1979-80 &7 ﬂﬂ:ﬁ:ﬁ Tl Hod 23558,
1991 ~r&38 600 O Treds HAH Ao,

b,  1979-80 &' 2r3854 2T2 S0 18 DO S Trexld dodr 1991 reds 90 HEADHS

arodf T8oh.
DB DSTFGS0
(1) b ST DS, (2) a8k bHBSD s,
(3) a B bBodr JBSD. (4) adSredad SPAG.

With which of the following programmes, it is intended to increase the production of rice, wheat
and pulses by 10, § and 2 million tonnes respectively by the end of Eleventh Plan ?

(1) Mational Food Security Mission ._Qd/ National Mission for Sustainable Agricultu_m
(3) Bharat Nirman Programme (4) Pradhan Mantri Kisan Sinchayi Yojana

HESOBS 1DFTPE womdl 36, FEDH SO ) Tarie &S5BS I 10, §
805 2 OCEHS LI DHHSO FBS5% STToHAS HE¥o D& 7

(1) 230D e FHAS WIS 2) TASS WAS HO IRTS eNEe B
(3) 2rd& Jdoves Hefo @)  INTESHOS e oo ABrad

=

Which of the following services cannot be availed vsing Aadhaar Enabled Payment System
(AEPS) through the micro-ATMs with Business Correspondents ?

Wluﬁm&nd Draft (2) Funds Transfer
(BYC Cash Withdrawal (4) Cash Deposit

DATD 5308085 S5 &S5) D - ATM o o 5o errbd i 8o Ao
(AEPS) & 53300 HHS 853 Hiod' B2 ATBrAowerdd den s 7

(1 Asrod @R ) Ado 26D
3)  SK& aHdorde @)  SKE 3%

S81-GS1
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Read the following statements :

a. The Hnﬁuhnflﬂ'a}f:ple Survey Office (NSS0) is responsible for conduct of large scale
sample surveys. '

b.  The Twenty Point Programme (TPP) initiated in 1975 was restructured in the year 1982,
1986 and 2006.

c.  The NSSO functions with autonomy under overall guidance and supervision of National
Statistical Commission (NSC).

The correct answer is :

(1) aand c only are correct. (2) a,bandc are comect.
(3) nmdhﬂnlymcurrﬁ;t'. (4) b and c only are correct.
1Sod arjpioc GdSod

8, DPSESD TodS HT 00 THSSE Todd H8 5 edio (NSSO) EAr006.

b. 1975 S |HAFH0DS 20 woTe HHE0, 1982, 1986 Sodakn 2006 S HIBoS2AIAE.

¢. Bold ferose EadS (National Statistical Commission) Slng), srOgron Srcddso
Hockn JSdEns" FadS TodS I8 HH H50HoH8H8E ®med
AELEPOA,

NP dArgrdo
(1)  a000k ¢ Sredsd HPSD. (2) abBA ¢ HJID.
(3)  aSBakn b SR HJS. {4) b SB050 ¢ ST OB,

Capital issues consist of two parts — shares and debentures. Read the following statements in this
context :

a Al sharehnl:hrs do not have any ownership of the company.

b.  All shares ate {ﬂemly loans which carry fixed interest rate and are non-convertible,

¢.  All debenture holders do not have any share in the ownership of the company.

d.  All debentures are merely loans which carry fixed interest rate.

Which of the above statements is/are NOT correct ?

(1) aandconly (2) aandbonly

(3) canddonfy (@ be&iiadmiy'

1808 arspsed t&ﬂ:--;‘am F

2, SEFTOOORET F0DAS Jerodd airasrata) 08 Sod.

b, FEFrOCHT 500 Sr8)5 Tkt Hen FR See ﬁnwm@aa@a aaamn
c. ABOBBOM SOND FEOSH F0DIO AFBITILOS' Jeroed Fer 500 &osS.
d. ABodBoN0m ¥500 Hare Erdod @od HEDS S Lo,

D TSS DO/N HOTIOTH ?
(1) a0ckn ¢S (2) a0cw b aredh
(3) ©SHOC d S (4) b,c0cm d Sreh

SSI-GS1 | 40




127, Maich the following : B
List -1 List = “.'
(Economic Policy) ' (Aim)
a. The new Indian Bankruptcy Code i. Improving the performance of Public
(IBC) | Sector Banks )

b. A large recapitalization package ii. To help corporates to clean up their
balance sheets and reduce their
debts.

¢. Demonetisation and GST iti. To strengthen the balance sheets of
Public Sector Banks.

d. Indradhanush iv. A noteworthy increase in the number
of tax filers.

2858w ;

wrder-i arDer-11
(@Q¥ dgrdo) - (o%¥o)
o rOBOH TS OTEE i (D20 580K 2roie HASHES
(IBC) RHHEO GO
b. S50opEins s i. 888 Jodod T8 e oo
858 Py, SHweds shsed
DTFsdo.
C. AArSDRELS DOck» SR il (HhésSon oo @) edo
DIO HA) SPEosH a8 beo Sabdo.
d. =0l S0 iv. D& SDoHrhe Doy
: Heanabghd Db Se.
The correct answer is : / A0S Hdrgard) H0otoh :
a b ¢ d
(1) i iii iv i
2) i ii iv iii
(3 i iv i iii
(4) i i i v
128, Which of the following industries is/are NOT an agro-based industry ?
a.  Textile Industry b.  Sugar Industry
¢.  Paper Industry d. Automobile Industry
The correct answer is '
(1) donly (2) conly
(3). Botha and b only (% Both c and d only

%S BODS HOF S’ DO/ SgSFAErroS HO¥S & 7

a. S DO b DodSard HOFS

e  HHBHOED d eSBS HBED

D MAPTN0 ;
() damedsd (2) carighab
(3) andCi b AMED (4) c DB dSMSDH
C SSI1-GS1 41
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FRESHERS NOW

The Reserve Bank of India set-up a Committee headed by Y.H. Malegam to study and advise on :
{1}  Self Help Groups and Banking Linkages

{2} Micro Finance Sector

(3) Pradhan Mantri Jan Dhan Yojana.

@r  Jan Dhan, Aadhaar and Mobile.

&HS BODS F8S" B HBoD wdichdo DR Hrdden S8, rds Oabs
2r50%0 Y. H. r@imo eodd &3 o8 5D dahuodod 7

(1} 5o R L)ooren - ZFoN BRoGTeY.

(2) ArEIH558 Soio.

(3) 1RG0 238 G Sirad.

(4) 2588 verbIndd.

Which of the following studies stated that, 53.3 per cent of India’s population i.e., (64.2 crore
people) are suffering from multidimensional poverty ?

(1) Tendulkar Committee Report - 2009 (2) Rangarajan Committee Report - 2014

(3) Planning Commission Report - 1998 (4) Human Dev&lopnunt Report - 2016

TFESTE srerd 533 TS0 (642 T Hod) IVEEED DBBE0 (multidimensional |
poverty) & 2reHcHam 8 603 S8S’ D 8diobdo 8OHHBDS ?
(1) WodropBined dJLE-2000 (2) SoforasS i FoK-2014
(3) D5 Hosvo NIOE - 1998 (4) S D@ NSOE - 2016

Which one of the following industries is not exempted from the compulsory licencing 7

(1) Glass Industry (2} Paper Industry

(3) Paint and Allied Products 4y~ Cigarette Industry

808BDDS HOFHOS’ D HOHFH $HIVHO B0 LoD WSHonoSHdeis ?
(1) TR/ HO1ED (2) A SO

(3) owodd SO @20 Selegen (4)  WiiddS Jo01F

Assertion (A) : SAMADHAN scheme is meant for one time settlement of dues of small scale sick
industrial units.

Reason (R) : Sick units are required to make one time payment including interest not more than
double of the loan amount.

Choose the comect answer :

(1) (A)is true, but (R) is false.
(2)  (A)is false, but (R) is true.
Both (A) and (R) are true and (R) is the correct explanation of (A).

(4)  Both(A) and (R) are true, but (R) is not correct explanation of (A).

DBISS (4) : TOFNE HNSH HDS DIy ST IO cﬂr&&@
Herod/aroneod B Jndomr ::a:;&aomm SOVOHODSE
SAMADHAN H3%0.

TS0 R):  TOTE L% SHond HOFNen T8 Do sHeSrtn
@R Bodosedy Notssoa airs TDood.

0TS Adrgrara) hdodod

(11 (A)RTBSA, (R) OB .

(2) (A)DBIB %, (R) HBIA.

(3)  (A)sBciw (R) Dodisr Sra A0, S08d%) (R), (A) %0 HOTDLS Dddes.

(4)  (A)08ckn (R) Bodir S S0, @@ (R), (A) $o 2O Db 5.

S51-GS1




133. The President of India doesn’t have which one of the following veto powers 7

(I} _Suspensive veto (2) Pocket veto
Absolute veto (4) Qualified veto
1808 DS ardidh o pNHAE B S BHTBI DA ?
(1) =&d% denddo & 2) Fand o
(3) Aol 28 edsdan 4) oSO ErAS S woTE5n

134, During which Lok Sabha’s tenure the tradition of giving the post of Deputy Speaker to the
nominee of opposition began ?
(1) 11® Lok Sabha 12* Lok Sabha (3) 9™ Lok Sabha (4) 10® Lok Sabha
BHTNB DO 1HADHE ¢ 508 3T Hopordbdy, DSBS (8o& BHS D
S'838 sewod' ?

() 1NS3SEHE (2 123858H3 (3) 956‘!@ ) 103888

135. Which one of the following statements is trug with regard to the office of the Governor ?
(1) Itis subordinate to the Union Government,
(2) Govemnor’s salary is fixed by Union Home Minister,
(3) The constitution under Article 157 prescribes only two qualifications.
(4) Itis an employment under the Government of India.
5815 HEDE JowoHod Bod PEbSeE SOT/SS ;
(1) Fold Db s addie érodnod,
(2) 685835 #&35w So|d e e SH0l8 AFowocHeb.,

() TzpolSnSR 1575 ©058m0 3556 HEDE Tosn Dok wisod
A0

4) FoB1HZhSLAn (oS 2 2.8 aSisw.

136. Which one of following type of legislation can be made without the prior sanction or
recommendation of the President 7

(1) A bill which varies the definition of Agricultural income.

(2)  Abill which affects the freedom of trade of commerce with other countries.

(3)  Alteration of boundaries of an existing state.

@Y~ A bill which is money bill.

lsoﬁa*aé‘hm&@ B098 OPNB SNOBR wHS B S Do
TS 7

(1) S55ch eordd A s’ Sréh) 8d ) D,

() 288 Brod 368 sdaibSved 1Hrdésn The.

(3) TR TErard) DOIFDOD SE 1S,

@) o8 Dyr densdad Doy, -

C SSI-GS1




137, Consider the following statements with regard to the State Leglslam rresHERS o

138.

139,

lml

"i""'f' An ordinary bill can originate in any of the Houses.
Legislative Council can delay ordinary bill only fcrapumdﬂfﬂme mmﬂu first instance.
ii. Legisl.atwe Council in the second instance can hold ordinary bill for ﬁﬂmn days.
iv. Legislative Council can only delay a money bill for twenty days. 7
o4 TR TH Do205H0D (208 1HELI0N 84S0 M.
i rerde Depd O DS T 0TI YIS 1.
i, SRS TS odd Drrden D Surdh Foo S8% ety Fabsdye. +
ili, BOGSAID TR Sodd) Arorde e HETTD Fare S55 e 50 Tabad .
iv. TS D0GD Frde DD 203 Fre) 65 eegSn amaum
Choose the comect answer among the following :
1208 S HOTAS 22050 AFDoHAY
LH/ LiL i, iv o (2) i&id (3) i, it & iii (4) i, ii,iv
Choose the correct statements from the following
i.  Lord Morley was Secretary of State for India in British Government.
ii. Lord Minto was Governor General of India. -
ili. Lord Morley was Governor General of India.
iv.  Lord Minto was secretary of state for India in British Gm:nunent
1808 3OS’ HODS [HESeDn D ?
i ol 3D, 1087 DS 08" S Tras SN
ii. e o& 3rde 15015 BS6ST ey
iii. erf 3B, 488 53818 2588 @y &,
iv. erd Do DR NS08 rdd Trag DD,
(1) i&ii (2) iii & iv (3) i&iv (M/ii&iv

Which one of the following was not a part of Reserved subjects in the Govt. of India Act of 1919 7
(1) Land Revenue (ﬁ'( Administration of Justice

O7 Local Self Government (4) Police

1919 2756 (2068 § 58S 02635 wodned’ B Dachaw O8 7

(1) 2o 3 : (2) argad ared

(3) AL H5HOrOS [H2DeS 5350 4 2O

Which Amendment of Indian constitution implicitly says that fundamental rights are amendable
under the procedure laid down in Article 368 7

(1) 29 A2y 42 3y 25% (4) 24®

2 oargod D380 ©0iSdn 368 S FoHBNS DISor DEE Tiyed
ASBO0TINTD YR APSST/HEE Orr TS ?

(1) 29358 (2) 42 58 (3) 2535& (4 24358

SSI-(:51



141.

Whe among the fﬂﬂﬂmng is authorized to decide the applmahiltty of any Yaiicular Act of
Parliament to a Scheduled Area ?

Union Tribal Affairs Minster (2) Prime Minister
(3) President (4) Governor
1808 T06" J508 2.8 1HB55 TTHoS SYsw NETS (FTomedH SONoo o @
DFoNotH BHT G Eerch 7
(1) BolS AdaS T SiSTore T oS

() Herddols
(3) oRHe
(4) 835835
142. Match the following :
List-I (Committee) List-II (Recommendation)
a.  Balwant Rai Mehta T, Zilla Parishad should be executive body
b.  Ashok Mehta ii. MNyaya Panchayats
¢. K. Santhanam iii.  Zilla Parishad should be advisory body
d. L.M. Singhvi iv.  Panchayati Raj Finance Corporation
2H SIS
mDer-1 () ar Do 11 DFEY)
. DOWSCD DTS i 2er HOAE SEDELTE 50D
b. 35 ire ii. ioh dooronesen
c. B domrdo ifi. 2 H0AH DO Joy
d  JIEIS hHodos iv. Homrons ool S) s BAS
The correct answer is : JOQDLS Ddrgrdo :
. a b e d
B i i iv iii
(2) i ii v il
(3) i i v i
4y 1 i i v
143.  Which constitutional amendment conferred constitutional status on the National Commission for
Bac d classes 7
aﬂyv;:rrz"’ (2) 103" ©(3) 100 (4) 101*
B0d S D orarjol Hd%8 (D580 zs‘&ah il S8 nss oersof
oo 0% ?
(1 1025 (2) 1033 C(3) 10035 (4) 101
144. Which Article of Indian constitution provides for making any special provision for women and
children ?
TeriofisnSDd J 0didmsn SHirdos OOy ook HEE SHHe
500t Inenarty $O3xNod 9
1) 152 @ 1501) 3) 150) @ 15)
C SSI-GS1 45
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145. Which of the following, is/are the objective(s) of Ministry of Skill Development and

146.

147.

148,

Entreprencurship (MSDBE) ?
a.  To fulfil the vision of Skill India Programme
b.  Tomaintain supply-side skilled labour force statistics
¢.  Tofill the gap between demand and supply of skilled manpower
The correct answer is :
(1) bandc only are correct. (2) aand c only are correct.
a, b and ¢ are correct. (4) aand b only are correct.
808 TS DO/ By ©DIHE Hbck SgiFrnss SolBS sy (Ministry of Skill
Development and Entrepreneurship (MSDE) &5 jo/o5en ?
8. Skill India HPHEDY S NES (vision) & 330 Tasndy.
b. AR FHSH SowoHod ool |Fans 48 ferosod Ao,
¢,  De3eego fio s 48 Adrof-HRohe ds ol @osoR) Syrdothe.
PABS NATEINO
(1) bSOy ¢ M DAY (2) a:00k0c S HBSD

(3) &, bSO ¢ HBSD (4) a58c80 b Srsh HBSD
In the Constituent Assembly, the *Objectives Resolution® was passed on :

(1) 24" January, 1947 (2) 25 January, 1947

(3) 26" January, 1947 (4) 22* January, 1947

‘AT SN0 BOSIN’ orarioll SHHBS” NP BBrHodDAIE 7

(1) 242558, 1947 (2) 2525508, 1947

(3) 262338, 1947 (4) 22 2550,1947

Which of these two following Vice Presidents acted as officiating Presidents of India 7
(1) K.R. Narayanan & Krishna Kant (2) B.D.Jami & R. Venkatraman

A3 S. Radhakrishnan & V.V, Giri (4) V.V.Giri & B.D. Jatti
308 TBS' D BB @) - pddien B OF o JHévenr S350 DT S 7
() Bebrodhod & iyyusos 2) DA 28 & ab I0500°0S
(3) MN.oTEHd &.0.00 4) DD AB&DH =43

Which one of the following statement is correct with regard to parliamentary committees ?
(1) The members of the Estimates Committees are elected by Lok Shabha.

(2) Public Accounts Committee consists of 30 members.

(3) Committee on Empowerment of women is a departmentally related committee.

(4) Committee on Home affairs is a Joint Parliamentary Committee.

FEDoed §dess 5020800 1808 TS HOTS 1HELS DA 7

() ®odare SDd Do SEHS HHen IS TRED.

(2) 1Dz HPo M Hhge Sopg SuD).

(3) Sl Hsd, £08 Derd Honodé Yrodol fane.

(4) S T Sg8rore 088, Hoding rUoerd L.
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From among the following, which Committee’s rmﬂmmendath}ni were -accepted by RBI to
switch to consumer prices from wholesale prices in setting its inflation target and making
monetary policy 7

(1) Y.V.Reddy Committes (2) Bimal Jalan Commiitee
(3% Raghwram Rajan Conmittes (4) Uit Patel Committce

185858 DS B B |18 e ©fy (inflation target) ATFTRE &% S8 (wholesale
prices) S0 DATWrA $) HSen AHTrAicTod & (Sod i D s IS
ardand RBI ecfiZtodod ?

(1) 2.D.85 508 (2) DD zerd idodd
(3) Sdworo orad ol (4) 0S8 HHS Ened

Assertion (A) : Workers — population ratio in India is low in contrast to that in developed
countries.

Reason (R) : Rapid growth of population, low female worker population rate and omission of
unpaid family workers lead to low worker-population ratio.

Choose the correct answer ;

(1)  (A) is true, but (R) is false.

(2} (A)is false, but (R) is true.

(3) Both (A) and (R) are true, but (R) is not a correct exp]a:uti;:rn of (A).
(¥~ Both (A) and (R) are true, and (R) is the correct explanation of (A).

DEFES (A) : ©D30 Tobdd Brod & 8% arésddsod® (Tokes - amrer
AT By,

PB00 (R) : 270720 0SS 590, arerd Hirer [Fde Den S5 Sm doddo,
S T00dH R fyrdoll |[FRHwdD B8,0058 BuFidsgo So8dd,
[TRhSoe - 27 An e dihdod rdoth.

O s argrarRy Hlodsod

(1) (A)IBIB, = (R) HBIS S,

(2)  (A) HBIS &, ST (R) HBIA.

(3)  (A) 8y (R) Bods 8o HBH, 520 (R), (A) 50 HOTDS D568 5.
@  (A) DO (R) BodT 7 HDSD, HOain (R), (A) & HOTS Dastsen.

SSI-GS1
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The important geograpligsi#visions in India are

(1} Himalayas and Deserts

(27 29 States only

(3) Himalayas, GangaSindhu River Plain, Coastal Areas, Peninsular Plateau, Deserts and Istands.
(4) Forests, Rivers, Mountains ami: Ses coasts

réaTios |Hrd oTHOE Dfaden :

(1) arSrodired SHOCED JErden

(2) 29 0Fe» Srighad

3) SrErecre, Sor-Hosrsd DEwo, Amhse) SEr, 808 Do,
8 [rodo SHbain Adjex.

(@) &9, Scen, HSEren HOGH HIvGBoe.

182, Which of the following is the key factor in social studies 7

153,

154,

7 Forests (2) Technical problems

(3) Development in Medical Sciences  (4) Population
ot Mo rer §oiPS wodo (Sod BS D6 7

() eodden (2) FoI8E HSdgen
(3) BT RAS 8DIHO (4) ey
The formation of separate Telangana state was the result of Telangana people's long fight to get the
following '
(¥~ Water, Resources, Jobs (2) Education, Employment, Independence
(3) Respect, Huge Wealth, Influence (4) Reservations, Jobs, Bank loans _
& (800 A B Fode TEH Boors Paw TS DY Fowre Hdsor
@ Soome T a0 26858 ?
(1) D&, Avew, dairssen. (2) D& A, A sSosssw.
(3) MOI3W, ©IG JHoHG, DenBond. (4) B85, aFiren, 2rjod S,
The main reason for “Globalization™” is

(1) Gap between the rich and the poor (2} Political parties

(3) Moessage-oriented films ,(ﬂ/ Fast growing technological knowledge
“PDODESE HIEAD” 0 (DTS 5SS

(1) SBoen H8d Dol Hds &d) eosddio

2) ozbch>Qen

(3) HoTwd)E dAdSrww

(4) Jor @dIHP Tofdrd) rosal HBFTS0
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FRESHERS Now

What is the name of the sysiem, developed by Richard Eﬂndlﬂmd.lphn&-mdﬂ* that seeks to
mmmnﬂfﬂwmmdﬂﬁwtwcmnmmmdmﬁhmleumuf
mental and emotional behaviour 7

(1) The power of positive thinking (2) Stress-reduction programme

(3) Perspectives on personality (4) Heurc»ngu:shcs programming

Hgah SIS HOCH HYSoSTS 2rd 1HH8e THo, SrdhE O 28D 5
D58 HEOS" HOTS BIMIFID @"mmﬁ‘ EDyohe §lo' 68 arjobed
SH8050 20 Ao DoLroBoDS DY Tngy, DX D0l ?

(1) Dodro oSS ¥E (2) SBAR $RoT sEpEseo

(3) 3380 gy Spfyeren (4) &8 Dongys I mool

Read the following statements :

a.  Adults cannot develop emotional intelligence.

b.  Emotional intelligence can be learnt and developed.

¢.  Adolescents cannot acquire emotional intelligence.

d.  Emotional intelligence is broader than [Q.

Which of the above statements are correct 7

(1) aandc (2) ¢andd (3) aandb (4) bandd

& |08 o SdS0bh

3 STrasen ST 109 (WErASS 2088028)8) O DodrodochEBh.

b S'BN HR 950055 DoFoSoHSRDY.

c. ST NG5 ol Sobiuyen ardHotS.

d. 0.8 Sy arS'Tg 199% SO0 NEA.

230 Fipies D HOTSD ?

(1) asbbcinve (2) cobddind (3) a0dwb (4) banddind

“An average level of Intelligence Quotient (IQ) and high level of Emotional Intelligence is a
formula for personal success”. Who proposed this ?

(1) William Bell (2) Thurston (3) Peter James (4) Daniel Goleman

“a ¥ 518 Dacirdt 10g u@ (IQ) H5&0 (Brorde) arons, ST M 198 20 (&S d)

o AoEod SPErRL” GrdeT) 255 |naardoords ?
(1) IDchoBS (2) &Hbas

(3) Heb5ES) (@) BBoohd FSirS
Read the following statements :

(a) The ability to recognize one’s own feelings and those of others,

(b)  The inability to understand abstract concepts.

(¢) The ability to understand mathematical formulas.

{d) The inability to understand technology.

Which of the above statement(s) is/are related to having ‘Emotional Intelligence’ ?

(1) (2)and (d) (2) (d) only (3) (a)only (4) (b)and(c)
& 800 T o SEI0H

(8) 5 Hckh TIdes, asdho rdsos Hdod o DN dodo.

) ©rdE s ridedH eImird FNFB i,

(€) Hedédh SriErerdd @&mird TsHOT rabdsd.

(d) AroBakdH eImird THESD eHls.

2 BH2AS Fipied’ DO/MD STt 103 4D a0dirdt H0205H0088 7
(1) (a)Sdcw(d) 2) @SrSdh () (a) SMEH (4) (b)0Bckw (c)
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Which one nfﬂmfnllumngshlis is important for a satisfactory personal mdprnmmmal l:f¢ i
¥1)  Professional skills’ (2) Technical skills

(3) Educational skills (4) Social skills _

DoS IESINS $38Ke Jo8akn 598 A5 0E 1208 Byessned’ DA 3585 7
(1) 38 Byeassn (2) RrosBE Fyeagaind

(3) oy SaeALAN (4) roans Feyeatan

Read the following statements :

a. Personal values define our character,

b.  To love and to be loved is a basic need for humans.

c.  The value system would nnverhelppanphhb:mwﬁsﬁll

d. thmlvﬂm&wemm:mmhmmudmfﬂrﬁam
Which of the above statement(s) is / are correct 7

(1) acandd . (2) bandc (3) aandc 4) abandd

51808 oo SS308.

2. Sg8Ke DenSen S By Siferd) dowaraw, |

b. (HAWOTII0 OGN |HAWOBBSLIS) ©FD Srde [DPNE BSDEE.

c. Densde S5 T I 3¢ SHdsed D2ABI0SID BIETDE ADTTHHS.

d. eriald Jende) Iod DS o Ards Fad Hod &0 arffihe Hdod
ardnadierin,

208 TH 128 Fimieds DA/ dzdw ?
(1) & cS0a0d 2) bSBowe
(3) asdwe (4) a bobdind

Which of the following comes under professional ethics 7
(1} Always supporting the employer only.

(2)  Always supporting the co-workers only.

(3}  Giving much importance to personal benefits.
-.(A')/ Having a sense of commitment to the job.
51800 S DO S8 &850 180S% SN0d ?
(1) CO2ArS DRIIAr Q) NS 50 S S,
(2) S8 aSiHod Sor HPS AN sdo SHSb.
(3) Aol D50 Erordsd Rl 80.

(@) adiian H& dape 5 aosko.
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What is the difference hﬂwm:sympﬂhy and empathy ? e
()Y Sympathy means feelings of pity and sorrow for other’s misfortune;
ability to understand and share the feelings of another.
(2) Sympathy is a verb and Empathy is a conjunction,
(3) Sympathy is positive whereas Empathy is negative, -
(4) Sympathy means the ability to understand and share the feelings of another; Empathy
means feelings of pity and sorrow for other’s misfortune.

el HOdin DTELEras ad) Sar a0 ?

(1) OFra ot 0 I¥) T DEGH T Brrn Gab, 20 Srdeo, HTHErd
ot 03 70 rad) T8 SS90 Hod Srh efo TgSdo.

(2) Frd 180D SO DoRNZTa Mt o,

(3)  radire @Sronad; Horhiire | HairaTa0.

(4) oire wod BT rard) 0 Sia F2o Hod S edo Tsiso;
DTRLErS wod Ity oSS TR SR SO, 20 Srbdo.

163. In our traditional family system, sons are preferred over daughters by many people because of one

164.

of the following reasons :
Dowry might have to be given to daughters.
(2) Daughters pave the way to heaven.
(3) Itis a government policy.
{(4) Sons are handsome than daughters.

& 808 TBS O sEmine SO5 FoHooh Bvon ISPS esrjonsiod
©27000 5T 8 JE035:008 Fhdootrd ?

(1) Srdds S88eryen 2550 S0od.
(2) Sréothy T8 Srfren S,

(3) (Do s dTEren SO

(4) ESocn Sréud 5 0lSom Hodrda.

“Vertical Social Mobility" refers to :
JB"  an agitation against caste system

(2)  the movement of an individual or people or groups fiom one status to another
(3) people’s migration | '
(4)  conversion of religions
‘S FAd [ndHOEY’ ot
(1) Boe SS9k Siabior SForerdw

(2) 358 2d0 Bor HArHren 2.4 e od LT oo Srédo
(3)  |Dae Bl devsen

4) S 3788
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The Untouchability (Offences) Act, 1955 was renamed as “The Protection of Civil Ihghts A-:t“ in
which year ?

B3y Arde Yo, 1955 & “TrETE e E’:ﬂﬁiﬂ SEe0” T DD S0 28
50583850 D& 7

(1) 1966 W) 1976

- {3) 1967 (4) 1956

166.

1 ﬁT-I

Who among the following Greek Philosophers considered ethics a practical rather than a theoretical
subject 7

(1) Aristotle (2) Epicurus

(3) Pleny (4) Socrates

& 800 A% Foomod 5% THE dndedn HFTOSHETOO rrﬁmﬂ'
RTTTE 50 e eraoird ? 4

(1) wdyrasd (2) QDETIER
3 W 4 Ede

The name of the Act, introduced to check atrocities against SCs and ST :

(1) SC & ST Communities Act, 1962

(2)  Prevention of Atrocities Act, 2000

‘m/ Scheduled Castes and Scheduled Tribes (Prevention of Atrocities) Act, 1989.
(4)  Protection of SCs and STs Act, 1950

SCEN SO ST A FPS;500580 S3R0%0mr DI FDOLAS LS DX
(1) SRR, SO0k R.68. ESurRedh Lo, 1962

@ (D3I & JerResD Seo, 2000 |

B D& o) 808 DATIE BB (DISS 8D JerPesR) 540, 1989
@) Frois uen JO.0. e HO) J0.68. & Ko, 1950,
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169,

170.

Read the following statements : i, s o

a.  Article 15 of Indian Constitution provides equal rights and nppmnmmt:s to all the citizens
without any discrimination.

bes  Under Article 91(6), the tribals can own property and enjoy it in any part of the country.

¢.  Reservation in employment is made for the tribals under Article 61(4), 230(5) and 353.

d.  Article 338 empowers the President of India to appoint &8 Commissioner to look after the
tribal welfare activities.

Which of the above statement(s) are correct 7

(1) bandconly (2}/ b, ¢ and d only

(3) & bandconly (4) aanddonly

& 1200 o SA&S08

a. 2 DSES Fhoom Heoddd rdd oeroloSD wfiS 15 S Frdojew,
GWATT O N0, |

b. QiS5 916 Derdo, sdIhen IS J S Br & TS,
LEEEAM st AR Un AR

c. RS 61(4)220(5), 353 B 80 wdIhos afiiod Bad 155 vl sagran.

d odid 338 (H5do, vAThO H0RH FHELTON HEFLodant rds
T R0aS .8 EDASES AahoT wdsto s,

DA oredy oS’ D HBSD 7

(1) bdcin ¢ SrSh (2) b,cBa%0 d SMedh

(3) & bSdcin e & (4) aSobciy d Sra

thhmynftheSCsmmuHﬂnmnhmnfmemnshmhnnﬂpmmmmhedmﬁmn
because they are still ;

{l}fmt part of voters® list (2) the believers of fate

437" illiterate and ignorant (4) live in forests or hill stations

ANH. e Trerod 08 orerioio Fh A oSS AHTrRoS FIeo B,
&SR8 sSe0:

(1) L8 rdeds BEdFrsso. (2) D8] NFgoEd; SdniSTad.
(3) DB gowen, w0, (4) ©338 Fod LBTesS aodero Ied.
Reservations as per 73% and 74% Constitutional Amendment have facilitated

(1) Women entering Gram Panchayats and Municipalities.

(2} Increase in the number of women in Industrial mtﬂr

(3) Increase in the number of Dalit women writers.

LA}"'I Increase in women’s literacy rate,

arSeh grarioft TS 738, 745 LS80 oo, 820 1aSe SSor & 1308 78S° 0
P300S ?

(1) rd Hotransew, HdTol Hodred |Qen 15320580,

(2) o dofos (he dopsS v,

(3) &P |8 SSonde Howmy SRS,

@) Do uioTis Sed DHhGe.
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173.

Who among the fulluwmg tribes in Telangana celebrates the festival nf' Theej 7

Banjaras A (2) Koyas
(3) Gonds (4) Kolams
Boomrod' D Adad Biard 8 Hodid 25T 7
(1) oz oen 2) &chexn
(3) Hodoe (4) Feoow

During the period of Burgula Ramakrishna Rao as Chief Minister, 2 judicial inquiry was
instituted by the government to examine the Implmmtmn of Mulki rules. Who among the
following conducted the enquiry ?

(1) O. Chinnappa Reddy (2) Pingali Jaganmohan Reddy

(3) O.Pulla Reddy (4 K.V.Ranga Reddy

Ao THED TN Supiol@r &d) Seod wd) ARoESL e
SESB0S'D DHIFOD 1D 0 28 T DS 28d0D0d. & $od ;08 @
AEF S 2RI D55 ?

(1) 2.081H08 (2) Do® ans 15 8o

(3) L.Toe (4) 3.0.50mr 0@

Assertion (A) : The people of Andhra region started “Jai Andhra Movement” as they thought
Mulki rules were against them.

Reason (R)  : In 1972 the Supreme Court upheld the Mulki rules as constitutional.

The correct answer is :

(1) (A)is true but (R) is false.

27 (A)is falsc but (R) is true.

(3) Both (A)and (R) are true and (R) is the correct explanation of (A).

(4) Both (A)and (R) are true but (R) is not the correct explanation of (A).

DBIES (A) : 80| [FrosoS'R [Haen Andy Daodden sy é;&ﬂgﬁﬁw “=
&0|d Adiar) " |rdodomtn.

somo (R) : 1972 & odo ¥H 0 Jdwodden orarjoindor HEED
5B odod.

HOTA DTG donE Tdhod

(1) (A) dzaw, SR (R) S).

(2)  (A) &33), 5, (R) s,

(3)  (A) Bk (R) Bodr dazsw, SB8ain (R) (A) 50 DTS D06,

(4) (A) B0 (R) Bodr Dessiw, SR (R) 50 (A) DTS DdSen 5.
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FRESHERS NOW

174, The Parakala massacre that occurred on 2™ September 1947 is.mften: said to be another
Jalliapwala Bagh incident. What was the aim of the protestors at Parakala ?
é}? To hoist the National Flag,

23— To boycott the foreign cloth.
{(3) To protest against the Nizam,
(4) To protest against the British dominance.

1947 Yo 2 S 88 2088 Jdre SrdoFio 2HAHS Terarh adodod

HFeodhod. Hire drddisrthe Brabiban 7
() ach Hersd) 8dipboddo. (2) DB a&en 220808580
(3) Nerorodl SiABEs Boydo, (4) 1DSHTO sdHEIR) DERoBS0.

175. 'Who among the following gave the features of the Telangana Thalli Statue 7

(¥~ B. Venkataramana Chari (2) Yekka Yadagiri Rao
(3) Goreti Venkanna (4) K.V.Ramana Chari
& 1808 78S ‘Boors $8' YHSDE SrHBned ad10TS8% 7
() D o5 SSerod (2) 5 TSR T
(3) 0D Toss) (4) E2.50rord
176. Match the following folk songs with those who sang them.
List ~ I (Songs) List—II (Singer)
a. Amma Telangana, Podusthuna Poddu i.  Abhinaya Srinivas 5
meeda
b. Nageti Sallalla Na Telangana \ii. Nandini Sidda Reddy
¢. Jai Kottu Telangana iii. Gaddar

d. Osmania Campus lo Udayinchina iv. Pasunuri Ravinder

Kiranama
806 29 Srdo ed SDoDS San/mobived Baéntran.
ader - 1 (Hdiren) andew - 11 (reahBadi)
a  @X) 8vorn SHNS) FPH NS i edsabh DI
b. a8 €L 3 Bvomrs ii. &SoBJdFdH
¢ BETLY oo ili, MO
d. AVRNAT SE0DRNS AGaNoDS iv. DATS BD0GS
8525
The correct answer is : HBTS DSrgrdo
a b ¢ d
O i i v
(2) i v i i
{(3) iii v ii i
(4) iv (] i i




177.

178.

179,

During the Te:lmg:::]a; ;:néasants armed struggle, the communists, in order to motivate the people
and to improve the political understanding, started recruiting willing youth., What was the name
of this youth force ? -
(1) Guerilla Armed Squads (2) Free Will Contingents.
(3) Destruction Contingents (4)  Self Protection Squads
Soorn BE) doind Sowod rhue (Hzed oraidh elrirdd, dAl%0 3
60038 TN AINSHOD JonBS HSTD, S cnS 48 K0P DD
D& 7

k-

(1) MO Irahudd 50 2) 12 2B LotdoBods)

(3) dar¥o TD Sot30Bod) @) fgodh SEearyss)

Mamh the following places in Telangana with the traditional products in those places :
-1 (Place) List — II (Products)

a. S lp&! i.  Khaddar

b. Koqgla ii.  Pearls Boring

G Chmdampr.ta iit. Gollabhama Sarees

d. Metf.ﬁlil iv. Paper Making

Boorné' 1800 (DoT O ©35 )8 oL & )OS 2SHS S,
aDew - 1 ((Drod0) ader - 11 (& yien)

a. oL i pEb
b. & i, Sveried doigren Jcsudy
c. Hodo Db i, Feersh Hdex
d DEHO iv. Shcho Saird
The correct answer is : fOQMA AATEIR0 ;-
a b c d
() i v i i
(2) i iv  Hi i
3 i iv i i
4 iv i i il

Which of the following was the main aim of the Sw
(1) Todo Satyagraha protest when the Parliament session was taking place.

(2) To march to the house of the Chief Minister in Hyderabad.

{(3) Tomarch to Jantar Mantar in Delhi.

(4) Todttack Assembly Hall in public gardens.

DSBS DS aFd o

(1) FEDoen HSrdzen 20HdN) SHoS HEriir SIS aa;z:-m:sm
(2) TA0erdER Sugihold ATIRE airdm I¢so.

3) A9 SV zosS o8B SP% I¢do.

4) 508 mrDSHS'D wRod) 8370 Sued Scohdo.
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180. Who among the following was the Chairperson of the Congress Core Cnmm:ﬂe ssssssss w 1 resolved

181.

to divide Andhra Pradesh ?
Sonia Gandhi (2) P. Chidambaram
(3) Pranab Mukherjee (4) Manmohan Singh

SO|SHTY TR DFBoSERE Hododd soin &5 st & Bos oos
e Hen D 7

() &Asrmroh . (2) = DSoado

3) DS Sopd @) H2SIrHS Hob

Assertion (A) : The Mulki regulations were openly violated after the accession of H}fdmh-ad State
into Indian Union in 1948,
Reason (R) : Many employees belonging to civil and police administration were brought to
Hyderabad State from other states in the name of improving the law and order situation,
The correct answer is :
(1)  (A)is true but (R) is false.
(2) (A)is false but (R) is true.
(3) Both (A) and (R) are true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
BDEIES (A) : 1948 & ST rdsSios OIS HAS Jud; Doodsod
2ardoliomr aosnoddo adhcd.
P800 (R) : DS, FHD TpodH Jods oFE aSihed (HE) olEre Hod 2l
F08 PSS DOF0HOD DHE SER Tadd.
O TS0 ;
(1) (A) D250, 5% (R) 53,
(2) (A) &35, (R) dzsaiw.
(3)  (A) 0BG (R) Bodhr Jesain, HOTM (R) (A) 5 HOTDS Daddes.
(4)  (A) B (R) Bodr Dasm SR (R) %0 (A) HOTS DI8e0 5°¢%.

Arrange the following agitations in the sequence of their occurrence.
a.  Million March b. Sansad Yatra

c.  Palle Palle Pattala Paiki d. Sadak Bandh

&i 1508 dortred e 2608 15508 @808,

a  OWMDS Sr0) b.  HOHG iy
. JIBIBHEr 8 d. HAE2208

(1) ¢adb (2) b,c,da

(3) adecb (4) d,c,b,a
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183.

FRESHERS NOW

S. Jaipal Reddy as a student leader in 1968 led an agitation of Osmania University Students ™
against the Chicf Minister on the issue of the Vice Chancellor’s (V.C.) appointment. Who at that
time was the V.C. of Osmania University ? '

(1) D.S. Reddy (2) P.M. Reddy

(3) Ravada Satyanarayana (4) Pinnamaneni Narasimha Rao

1968 5058508 Dol TAHRAT 0. B S B8 R0k ardSe )8 dmPos’
@538 JopiolBs Siadtor 30 THO0 AohHTVE LoBOHONN AAADOR
ASSTR) SAIH. )8 GRAACHT D DT EOAN0 DR, DS 7

(1) &% 0F (2) S0 B

(3) oOard déTroe 4 HAPHTJ SIS0

The Government of India formed the States Reorganisstion Commission (SRC) in December
1953, Who among the following was not connected with the commission 7

(1) Justice Bhargava (2) Saiyid Fazal Ali

(3) HN.Kunzu (4) K.M. Panikkar

1953 ADondHS” 208 (HIHS0 OITO DS0EBS SIS & (DRedd)
ASHWoN0. |Bod BT, EHASE Doodan B SBSH ?

(1) zh0ards @) SIS ed
(1) TrdS.08. ool (4) B.o. D355

¥

185. In 1971 election, the Telangana Praja Samithi (T.P.S.) contested and won 11 out of 14 seats for

186.

Parliament. Under whose leadership T.P.5. was formed ?
(1) K.\V.Ranga Reddy (2} Madan Mohan

‘_gy P.V. Narasimha Rao (4) Marri Chenna Reddy

1971 dDEod Boorn HFHNS (BD.I0) 14 FToh 11 Forod TerdfRod.

35,00 30 e 8508 ATvyow0d 7

(1) E.2. Sordd () 0SS IS
(3) HI. IBOTTH @) S0 3T80

In 1950 Hyderabad State Cabinet appointed a committee 1o make suggestions for reorganization
of administrative and economic system in the state. Name the Chairman of that committee

(1¥ Digambar Rao Bindu (2) J.P.L.Gwinn
(3) V.P.Menon {4) A.D.Gorwala

1950 & ST TR SHTS HoTeS, vE Sored 35 33 50EBRT HeTerdd
cot0 0% 2.& 204 DAHNoDoB. & F20d8 e HTIS ?

(1) &fond o Do (2) BB 050
) 5D 4 2.4 670
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191,
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Parliament ? ;
(1)  Sushil Kumar Shinde (2) A.K. Anthony

(3) Manmohan Singh (4) P.Chidambaram

1800 065 rEotneS “eo|BIHTT HSE 5r3PESe Dey - 2013” K (DIFDEITIS 2
1) 2hS 5308 hol (2) QB so8d

(3) Hoabera mol (4) 2. ASoado

Which of the following statements was not true regarding the Andhra Pradesh Re-organisation
Act—20147

(I) Amaravathi as capital for Andhra Pradesh.

(2) A.P. and Telangana to have powers to change boundaries of districts.

(3) To have a common Governor for both the States.

(4) Andhrma Pradesh to have districts mentioned in Section — 3.

808 (HISSSn0S DO woHHTT PIGSIHEGR 3o — 2014, IH HoOAOD
BRSO 50 7

(1) oD% eHorsa Tarrd™T dodob.

(2) SOGDTT OGN BOOMEE BY” DOIEPED Srch IESErDs 8Os G0 o).
(3) Do oiarod 2.8 15515 drochl,

(4) 35 ob0i600 S BODIEY wo(BHEES 2uran o,

Who among the following led the Mulki Agitation in 1952-53 with the slogan “Idly Sambar Go
Back™ ?

(1) Intellectuals (2) Lawyers  (3) Peasants (4) Students

1952-53 &' ‘a8 owrd K ¥ oF Drdos 2003 J0d) &S53r), 1808 HELSY
T0S* 5B SADoTd 7

(1 ograyen (2) argolarthen (3) Deében @) domppen

The then Chief Minister N.T. Rama Rao appointed the three member committee with Jayabharata
Reddy as the convener to report on which of the following aspects in Telangana ?

(1)  The census of government employees (2) Utilisation of temple lands

(3) Imigational facilities (4) Industrial progress

®3)8 Sopidold IS8 ocdrod adbardE BAJ (BHY; St s
QAHOD), Beomreardd So020H00DS 2 oFoD edidhdsy Fabhsay & ?

(1) 1DHéheds axFthe DEen 2) Torood e DATrio

(3) AB>Hde AEoren @) JrOFVE DIHE

Who among the following depicted the Telangana way of life through his paintings

(1) B.V.R. Chari (2) Midde Ramulu

(3) Kanta Rso (4) K. Lakshman Goud

& (800 0S5’ 25D Boorrs ZS5S DFTTR) 8 VSBparod 1Hadodod Ird ?
(1) DHeb o 2) 2B obwen

(3) soEroy (4) B.o5 558
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193.

194,

195.

FRESHERS NOW

After Ramachandra Reddy of Pochampalli donated land for Bhoodan Movement, Vinoba Bhave

constituted a three member committee for judicious distribution of Iands among the poor. Who
among the following was a member in that committee ?

(1) S. Yaganti (2) D.Lakshman Rao
(3) V. Veerabhadram {(4) Ummethala Kesava Rao
HFS50HDS ooy B oS A iSrds 2y adéor A0S Soris, DEBODS

ZErsned [Eoador Do SodarE D% ord 2.8 0680 Achoor. & 1800
T8 & Ened H30IBS 7

(1) Q0. drtodd (2) & efi0o
(3) . I8P G0 (4) aydeo TidowH

During whose administration in Hyderabad, Telugu and English languages replaced Urdu which
hitherto was the State language 7

(1) K.M. Munshi (2) Burgula Ramakrishna Rao

(3) JN.Choudhary @) MK. Vellodi

D36 HBFeS 1808 rSorerheS @odSSEH esss rar SSAS & a&en
Benth, ol 2rden 1 DYadaran ?

1) Bd0. S0 2) o odsd o
(3) BN TED (4) =03 3rd

Who among the following was the Vice-President of Telangana Praja Samiti during 1969
Telangana Movement 7

(1) Madan Mohan (2) Sumitra Devi

(3) Konda Laxman Bapuji (4) Sada Laxmi

1969 Boome &1 HXoHhod Boomes [HE° HE GIGsHen IS5 ?
(1) B8 Irirs (2) e 82

(3) Poorofnry2 (4) Horely

Which among the following was not part of the Gentlemen's Agreement ?

(1) Telangana students had 3 : 1 share in educational institutions.

(2)  Surplus revenue from Telangana to be spent for its own development.

(3) Continued Mulki rules in government jobs.

(4) Sale of landed property was controlled by Telangana Regional Council.

1808 88" DG DO 2.H0508  2rio SAE A6 17

(1) Doy HoRS, Svors dorsdoH 3 1 R)8S Pare deranod.

(2) Seors [Drodod ST) e srrdiry) @ |ros eS8 2ATrioard,
(3) 125 adirod Sud; duodse SIFN0D.

(4) SBwomre [;Foécﬁm 2080 eddod Si5aah Frdven wdgo.
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When the Telangana Political Joint Action Committee with all pro-Telangana e o was formed
with Prof. Kodanda Ram as the convener, which of the following parties did not join in it ?

(1) CPL(M) " (2) TRS. :

(3) Congress {(4). T.D.P.

Boornd D fo ozboh Fhod | 508D HRET 8IS Boors
oradcd 2ronod aird S $ussS I oslch 1P 08 2

(1) DD (D0 2y Babab
(3) soiR 4 885

On December 28, 2012 U.P.A. government convened an All Party Meeting in Delhi on
Telangana. Match the following parties with their leaders.

List — I (Partles) List - 11 (Leaders)
a. Congress i. K. Narayana & Gunda Mahesh
b. Y.C.P. ii. Raghavulu & Julakanti Ranga Reddy
¢. C.PL ili. Mysora Reddy & K K. Mahendra Reddy
d CPM. iv.  Suresh Reddy & Gade Venkata Reddy

2012 Aot 28 &5 &6 ..o PS50 BLOomR VAT 2.8 ®PODE JddrdTr
Aoyt TR0, (808 8OHS Fgen, o8 Trobred 2SHTHAw,

Do -1@>8ey) Do - 11 (robhioen)
8. Fofen . B aoohe & hoor HBh
b. B2 i, Oanden & oo Sordd
c. Do . F0drd B & 3.3 arold BE
d Hacho. iv. ol 8@ & mE J080E

The correct answer is : YO DT T S0 :
a b ¢ d

(h i v il i

@ i @i v i

(3} ii v iii i

(4) iv il i i

Who among the following carved the *Gun Park Martyrs Stupam’ at Hyderabad in memory of
those killed during 1969 agitation ?

(1) B. Venkataramana Chari (2) Ekka Yadagiri Rao
(3) Pushpa Narayana (4) Ambati Surendra Raju

1969 &S50 @BS o8 FHsdo Irdoardd SR US B sE ey’
Er2rofHotdd 0y D 7

(1) D ot e d (2) 57 CSrEABTY
(3) Jpr) U (4) e02:¢8 0o ora®
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Which one of the following statements is true with regard to the All Party Accord that arrived in
January, 1969 at the initiatives of the Chief Minister Brahmananda Reddy on Mulki rules ?

(1} Those who obtained jobs by using fake Mulki certificates were to be transferred.

{2y G.O.No. 36 was issued to retain all Non-Mulki as Andhra employees.

(3) Persons employed in Telangana against the Mulki rules were to be regularized.

(4) Mulki rules were to be applied even to autonomous organisations besides government
departments.

S0l 299308 B TEIE 1969 2835066 608 eo HE aoyaros sud)

Dodde HBoD 808 T8S HBS 1DSSS0 & ?

(1) 833 3ud) Hissved adired Fodd FE5050 2560 Taird.

(2) G.O. No. 36 e TR, Bvorad’ awd) md 5760800 ol adiheurr
ESarhod Joird.

G) Boorms b Jwolsos SBBLor  JoHOSBAS  TEOSED
Eod58e Jasird.

@) S DuodSes 1HHés derrod ArSd mE 28 dodosh Srd
@& son0d Taird.

Assertion (A) : There was great jubiliation of the people of Telangana over the Supreme Court
Judgement on the status of Hyderabad city.

Reason (R) : In October 2009 the Supreme Court ruled that Hyderabad should be treated as “Free
Zone’.

The correct answer is :

(1} (A) is true but (R) is false.

(2) (A)is false but (R) is true.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

DAFES (A) : ST 358 Fop diho FY ad) Iewn3ds Joed Boore

Do D) edofe)Tod HESRoard.

o520 (R) : 2009 o088 bho £ Trdoerd 4h 25" m Jotnodd 8)
RO,

ETeToT AN IR NG o N To

(1) (A) Rzdw, SR (R) éay).

(2) (A)S)sR, (R) dzsad.

(3)  (A) 80 (R) Bodr Azsbn, SH8aim (R) (A) %o SO Dadde.

4) (A) 0050 (R) Bodyr Az, 5% (R) %0 (A) SO D386 5.
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